www.Padasalai.Net www. TrbTnpsc.com

.surabooks.com

ATHEMATICS
10" Standard (\

Based on the Updated New T

<
. cy

Salient Features A ~ 4
Complete Solutions to Textbook Exercises.

Exhaustive Additional Questions in&p&.
Chapter-wise Unit Tests with SWM

Model Question Papers 1 t /QPTA) : Questions are incorporated in the appropriate
'5

+ + + +

sections. D\

4

Govt. Model Questignaper-2019 [Govt. MQP-2019],Quarterly Exam - 2019 & 2023
[QY-2019 &2023], HaL(yearly Exam-2019 & 2023 [HY-2019 & 2023], Govt. Supplementary
Exam September - 2020, 2021, August - 2022 & June 2023 [Sep. 2020 ; 2021, Aug. 2022 ;
June -2023], First &!econd Revision Test - 2022 [FRT - 2022 & 2024 ; SRT -2022] and
Public Ex iern May - 2022 & April - 2023 [May - 2022 & April - 2023] questions

arei ted in the appropriate sections.

+

N + ubQExam - April 2024 Question Paper is given with answers.
\ D‘j SURA PUBLICATIONS
A E Chennai

For Orders Contact

enquiry@surabooks.com

Kindly Share Your Study Materials to Our Email I0 dasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net

www.surabooks.com

(CONTENTS )

www.TrbTnpsc.com

CHAPTERS CHAPTER NAME PAGE No.
1 Relations and Functions 1-24
2 Numbers and Sequences 25-60
3 Algebra 61-130
4 Geometry 131 - 168
5 Coordinate Geometry 169 - 198
6 Trigonometry 199 - 222
7 Mensuration 223 - 246
8 Statistics and Probability 247 - 276
Public Examination - April 2024 Question Paper with Answers 277 - 284
(SYLLABUS )
MONTH _ [ S.No. CHAPTER NAME /' UNITS
1 Relations and Functions 1.1-1.10
JUNE
2 Numbers and Sequences 21-26
2 Numbers and Sequences Algebra 2.7-2.11
JULY 3 Algebra 3.1-3.3
4 Geometry 41-42
1 MID TERM TEST (June, July)
3 Algebra 34-36
AUGUST 4 Geometry 4.3
5 Coordinate Geometry 51-56
3 Algebra 3.7
SEPTEMBER
6 Trigonometry 6.1-6.2
J JUARTERLY EXAMINATION (June to September)
3 Algebra 3.8-3.9
OCTOBER
4 Geometry 44-46
6 i .
e e Trigonometry 6.3
7 Mensuration 7.1-75
A - 11 MID TERM TEST (October, November)
DECEMBER | 8 | Statistics and Probability 8.1-86
HALF YEARLY EXAMINATION (Full Portions)
JANUARY FIRST REVISION TEST
FEBRUARY SECOND REVISION TEST
MARCH THIRD REVISION TEST

enquiry@surabooks.com

Ph: 8124201000/ 8124301000

Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail.com



https://www.padasalai.net/

www.Padasalai.Net

www.surabooks.com

www.TrbTnpsc.com

TO ORDER WITH US

SCHOOLS and TEACHERS:

We are grateful for your support and patronage to ‘SURA PUBLICATIONS’
Kindly prepare your order in your School letterhead and send it to us.
For Orders contact: 81242 01000 / 81243 01000

DIRECT DEPOSIT
A/cName : Sura Publications A/cName : Sura Publications
Our A/c No. : 36550290536 Our A/cNo. : 21000210001240
Bank Name : STATE BANK OF INDIA | [Bank Name : UCO BANK
Bank Branch : Padi Bank Branch : Anna Nagar West
IFSC : SBIN0005083 IFSC : UCBA0002100
A/cName : Sura Publications A/cName : Sura Publications
Our A/c No. : 6502699356 Our A/cNo: : 1154135000017684
Bank Name : INDIAN BANK Bank Name : KVB BANK
Bank Branch : Asiad Colony Bank Branch : Anna Nagar
IFSC : IDIBOO0OA098 IFSC : KVBL0001154
A/cName : Sura Publications Alc Name : Sura Publications
Our A/cNo. : 13240200032412 Our A/c No. : 50200031530945
Bank Name : FEDERAL BANK Bank Name : HDFC BANK
Bank Branch : Anna Nagar Bank Branch : Cenotaph Road, Teynampet
IFSC : FDRL0001324 IFSC : HDFCO0001216

After Deposit, please send challan and order to our address.
email to : orders@surabooks.com / Whatsapp : 81242 01000.

[ GPay

For Google Pay :
98409 26027

£100]

For PhonePe :
98409 26027

DEMAND DRAFT 7/ CHEQUE

Please send Demand Draft / cheque in favour of ‘SURA PUBLICATIONS’
payable at Chennai. The Demand Draft / cheque should be sent with your order
in School letterhead.

STUDENTS :
Order via Money Order (M/O) to

SURA PUBLICATIONS
1620, ‘J’ Block, 16th Main Road, Anna Nagar, Chennai - 600 040.
Phone : 044-4862 9977, 044-4862 7755.
Mobile : 96001 75757 / 81242 01000 / 81243 01000.
Email : orders@surabooks.com Website : www.surabooks.com

enquiry@surabooks.com Ph: 8124201000/ 8124301000
Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net www. TrbTnpsc.com

www.surabooks.com

¢

& RELATIONS AND
% FUNCTIONS

N
P

<1

¢

N,

.

s"

\‘o

very vertical line intersects the curve in at

a Vertical line test :

A curve drawn in a graph represents a func
most one point.

a Horizontal line test :

A function represented in a gr: one - one, if every horizontal line intersect the curve in at
most one point. Ve

a Linear functions has appl)lon% Cryptography as well as in several branches of Science and
Technology.

ot

enquiry@surabooks.com Ph: 8124201000/ 8124301000
Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net

www.TrbTnpsc.com

www.surabooks.com

Y Sura’s

X Std - Mathematics ™ Chapter 1 ' Relations And Functions

jo

Sol.|

EXERCISE 1.1

Find Ax B, AXA and B XA
(i) A={2,-2,3} and B ={1,-4} (ii) A=B ={p,q}
(iii)) A= {m,n} ; B=0 [PTA - 1; FRT - 2022]
(i) A={2,-2,3},B={1,-4}
AxB = {(2,1),(2,-4),(-2,1),(-2,-4),
(3, 1), (3,4}
AxA = {2,2),2,-2),(2,3),(-2,2),
(_29 _2)’ (_2a 3)’ (3’ 2)7 (37 _2):
(3, 3)}

BxA = {(1’ 2)’ (la _2)’ (la 3)’ (_4> 2)a
(_45 _2)5 (_4a 3)}
{v.9)}

{.p), 0. 9. (4. p). (g, 9)}
{®,p), v, 9). (4. p), (9. 9)}
{®,p). 0, 9). (4. p). (9. 9)}
{m,n} ,B=0
{}
- §(m9m)a (m9n)7 (}’l, m)9 (7’[, l’l)}

§
Let A= {1, 2,3} and B = {x | x is a prime
number less than 10}. Find Ax B and B x A.
[May - 2022]

A=B
AxB
A XA

(i)

A =1{1,2,3},B=1{2,3,5,7}

AxB = {(1,2),(1,3),(1,5),(1,7),(2,2),(2,3),
(2,5),(2,7),(3,2),(3,3)58.5).3.7)}

BxA ={(21),(272),(23),3:D,4,2),G, 3),
(5, 1), 5,2), (5,3)(7, D(7,2), (7, 3)}

If B x A={(-2, 3),(-2, 4),(0, 3),(0, 4,3, 3),

(3, 4)} find A and B. [Qy. - 2019; April - 2023]

Given B x A={(-2,3),(-2,4):(0, 3), (0,4), 3, 3),3,4)}

Here B={-2,0, 3}

[All the first elements of the order pair] and

A= {3, 4}

[All the'second elements of the order pair]

If A={5, 6}, B=1{4, 5, 6}, C ={5, 6, 7}, Show
that AXA = (B x B)"\(C xC). [FRT & Aug. - 2022]
A= {56},B=1{4,56},C=1{5,6,7}
AxA = {(55),(5,06),(6,5),(6,6)} (1)
BxB = {(4, 4), (4, 5), (4, 6), (5, 4), (5..9),

(5.6), (6,4), (6.5), (6. 60)} -(2)
CxC = {(535),(5.06),(5,7),(6.5), (6. 6),
6,7),(7,5),(7,6),(7,7)} ..(3)
(B xB)n (CxC)={(5,5),(5,06),(6,5),(6,6)}
..(4)
=@

AxA = (BxB)n(CxCQC). It is proved.
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5.

Sol.

Given A ={1, 2, 3}, B = {2, 3, 5}, C = {3, 4}
and D = {1, 3, 5}, check if (AnC) x (BND)

= (AXB)N(C % D) is true? [Qy. - 2019]
LHS = {(AnC)x(BnNnD)
AnC= {3}
BnD = {3,5}
ANC)yx(BnNnD)={3,3),(3,5)} (D)

RHS = (AxB)n (CxD)
AxB = {(1,2),(1,3),,5),(2,2),(2,3),
(2,5), (3, 2), (3.3)(3.5);
CxD={(3,1),(3.3),(3.5), (4, 1).(4,3), (4,5)}
(AxB)Nn(CxD)={(3,3),(3,95)} -.(2)
S(DH)=(2) .. Itistrue.
LetA={xeW |x <2}, B= {xe N |1 <x <4} and
C = {3, 5} . Verify that
(i) Ax(@BUC)=(Ax*B)UAxC)
[PTA=2; FRT - 2022; June & Hy. - 2023]
(ii) Ax(BMC)= (A *x B)"(A x C)
[PTA - 5; Sep. - 2021]
(iii) (AUB) %X C = (AxC)u(B x C) [Qy. -2023]

(A XBUC) =(AxB)U (AxC)

A = {xeWlx<2}={0,1}
[Whole numbers less than 2]
B = {xeN |1 <x<4}={2,3,4}
[Natural numbers from 2 to 4]
C ={3,5}
LHS =AxBuUC()
BuC = {2,3,4} U {3,5}={2,3,4,5}
AxBuUC) = {00,2),(0,3),(0,4),(0,5),(1,2),
(1,3),(1,4),(1, 5)} (1)
RHS = (AxB)UAxC)
(AxB) = {(0, 2), (0, 3), (0, 4), (1, 2),
(1,3), (1, 4)}
(AxC) = 1{(0,3),(0,5),(1, 3), (1,5}

(AxB)u (AxC)={(0,2),(0,3),(0,4),(0,5),

(1.2). (1.3). (1. 4).(1, 2}5
(1)=(2), LHS = RHS  Hence it is proved.
(i) AX(B NC) = (AxB) N (AxC)

LHS = Ax (B nC)
B NC) = {3}

AxB nC) = {(0,3),(1,3) (1)

RHS = (AxB) n(AxC)

(AxB) = {(0,2),(0.3),(0,4),(1,2),

(1.3), (1, 4)

(AxC) = {(0.3),(0,5),(1.3),(1,5)}

(AxB) N (AxC) = {(0,3),(L,3)} )

(1)=R2)=LHS =
Hence it is verified.

RHS.
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(iii) (AUB)xC=

(AxC) U (B xC)

LHS = (AUB)xC
AUB = {0,1,2,3,4}
(AUB)xC = {(0,3),(0,5),(1,3),(1,5),
(2,3),(2,5),(3,3),3,95),
(4,3), (4, 5) ..(1)
RHS = (AxC)uU (B xC)
(AxC) = {(0,3),(0,95),(1,3), (1, 5)}
BxC) = {2, 3),(2,5),3,3),3,5),

(4,3), (4, 5)}

(AxC)U (B xC)={(0,3),(0,5),(1,3),(1,5),

(2,3),(2,5),3,3),3,5),
(4,3), (4, 5)}..(2)

(1)=(2) .. LHS = RHS. Hence it is verified.

7. Let A = The set of all natural numbers less
than 8, B = The set of all prime numbers less
than 8, C = The set of even prime number.
Verify that

i ANB)xC=(AxC)N(B x C) [Sep. - 2020]
(ii) Ax(B-C)=(AxB)—-(AxC) [PTA-1]
A=1{1,2,3,4,506,7} [May - 2022]
B = {2,3,5,7}
C = {2}
[ . 2 is the only even prime number]
g1 () ANnB)xC=(AxC)n B xC)
LHS = (AnB)xC
ANnB = {2,3,5,7}
(AN B)x C={22),G2), (5 2), (72
...(1)
RHS = (AxC)n (B xC)
(AxC) = {(1,2),(2.2)(3:2). (4:2): (5.2),
(6,2),(7.2)}
BxC) = {(2.2), (3.2).(5:2). (1.2)}
AxCO)N(BxO)=1{(2,2),(3,2),(5,2),(7, 2&}5
(1)=(2) .. LHS= RHS. Hence it is verified.
(i) Ax(B-C)=(AxB)-(AxCQC)

LHS = Ax (B-C)
B-4C) = (3,57}

A X% (B — C): {(17 3): (1: 5)9 (17 7)9 ( s )7 (2v 5):
b 7 b (3’ 3)7 (39 5)5 ( b )’ (4’ 3)3
(4,5),(4,7),(5,3),(5,5), (5, 7),
(6,3),(6,5),(6,7),(7,3),(7,5),
7,7 ..
RHS = (AxB)—(AxC)
(AxB) = {(1,2),(1,3),(1,5),(1,7),

(2,2),(2,3),(2,5),(2,7),
(3,2),(3,3),(3,5), (3, 7),
(4,2),(4,3),(4,5), (4, 7),
(5,2),(5,3),(5,5), (5, 7),
(6,2), (6, 3), (6, 5), (6, 7),
(7,2),(7,3),(7,5), (1,1)}
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(AxO)={(1,2,2.2.(3,2,(4.2.(5.2.(6.2.(.2} ¥

(AxB)—(AxC)={(1,3),(1,5),(1,7),(2,3),(2,3),
(2.7),3,3),(3,5),(3,7),(4,3),
(4,5),(4,7),(5,3),(5,5), (5,7,
(6,3),(6,5),(6,7),(7,3),(7, 5),

7,7} ..(2)
(1)=(2) = LHS =RHS. Hence it is verified.

' EXERCISE 1.2 NSLEE
1. LetA={1,2,3,7} and B = {3,0,-1,7}, which
of the following are relation fromAto B ?
» R, ={D, (7,1}
(i) R,={C-1,1)}

(i) R, ={(2,-1), (7,7),(1:3)} [FRT -2022]

(iv) R,={(7,-1);(0,3),(3,3), (0,7)}
Sol.| GivenA= {1,2,3;7 and B={3,0,-1, 7}
i R,={2, D, (7,1} A B
2 and 7 cannot be related
to 1 since 1 ¢B
=. R, isnot a relation.
(i) = A1, D}
—~1 cannot be related to 1
since—1 ¢ Aand 1 ¢ B
. R, is not a relation.
(111) R3 = {(2, 71), (7’ 7), (1a 3)}
A B
R3 1S a relation since
' 2 is related to —1, 7 is
related to 7 and 1 is
‘ related to 3.
(iv) R= {(7,-1),(0,3),(3,3),(0,7)}
A B 7 1s related to —1
3 is related to 3
‘ Since 0 ¢ A, 0 cannot
be related to 3 and 7.
-~ R, is not a relation.
2. Let A={1, 2, 3, 4,...,45} and R be the relation

defined as “square is of a number” on A.
Write R as a subset of A x A. Also, find the
domain and range of R. [Sep. - 2021]
a2 Given A={1,2,3,4,...45}

LAXA={(1,1)(1,2)(1,3) ...
2,1)(2,2)...(2,45) (45, 1) (45, 2)
(45, 3) ... (45, 45)} .. (1)

R is defined as “is square of
- R={(1,1)(2,4)(3,9) (4,16) (5, 25) (6,36)}... (2)

(1, 45)
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[.- 1 is the square of 1, 2 is the ¢ (b) a graph
square of 4 and so on] ,
From (1) and (2), R is the subset of A x A ! AV
~RcAxA : +
Domain of R={1, 2, 3,4, 5, 6} ! 5
[All the first elements of the order pair in (2)] , + |
Range of R = {1, 4, 9, 16, 25, 36} ! 4 =
[All the second elements of the order pair in (2)] | 4 2
3. ARelation R is given by the set {(x,y) y=x+3, | 3
x €40, 1, 2, 3, 4, 5}}. Determine its domain 1 3T ﬁ%
and range. [PTA - 5; June - 2023] | FHIIE,
S Given R = {(x, ) /y=x+3} and ! it o (OHE
xe{0,1,2,3,4,5} " it
Whenx =0, y =0+3=3 [.y=x+3]" - >
Whenx =1, y =1+3=4 : PSR 3%@ 3 &
Whenx =2, y =2+3=5 | : =iy fHI
Whenx =3, y =3+3=6 | P g
Whenx =4, y =4+3=7 ! i@!‘ﬁ‘i:
Whenx =5, y =5+3=8 I -
= R={0, 31, H,2. 9,6, 60.4, 0. 6.9} | o ff):R{(ZSter)ffrfl '+R3 2
~.Domainof R = {0, 1,2, 3,4, 5} 1 Y X9,
[All the first element in R] ' x and p are natural numbers <10}
1 A
Range of R = {3, 4, 5, 6, 7’ 8} 1 x_{laza 3:4’ 59 69 77 8>9
[All the second element in R] | y=11.2,3,4,5,6,7.8,9;
4. Represent each of the given relation by (a) an ~ [ x and y are natural numbers less than 10]
arrow diagram, (b) a graph and (c) a'set in | Giveny = x+3
roster form, wherever possible. ! Whenx =1, y=1+3=4
() {Co e =2y, x€{2,3, 4,5}, y € {1,234} | Whenx =2,y =2+3=5
(i) {(v,»)ly=x+3,x,y are natural numbers <10} | Whenx =3,y =3+3=6
[Aug. -2022] 1 Whenx =4, y =4+3=7
S (i) R = {(x,»)| x=2y,x€ {2,3,4,5} and ! Whenx =5, y =5+3=38
1.2.3.4 . Whenx =6, y=6+3=9
ve {1,3,3,4}) ;
When x =2, yi= e o ! Whenx =7, y =7+3=10
o 2 ! Whenx =8, y =8+3=11{10,11,12¢)]
[ox=2y =>y=5]: Whenx =9, y=9+3=12
3 ! R={(1,4),(2,5),(3,6),(47),(5,8),(6,9)}
Whenx =3, y == ! ,
ﬁ | (a) an arrow diagram |(b) a graph
When x =4, y=—==2 ! . e
2 1 9
1 1 1 ai L 65H
5 1 2 2 i AEE
Whenx = 5, = — 1 3 3 £ @
y 3 e
2 : 4 4 aA L 5)( -6)
: 5 5 . :
(a) anarrow diagram 3 c3ann0t be related ! . . o
to = and 5 cannot be | 7 7 1
' X 8 8 2
9 9 i
related to E : i e
: i fa
1
: (c) Roster form :
! R={(1,4),(2,5),(3,6), (4 7),(5,8), (6,9}
:
é
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5.

(a)

(b)

1.

A company has four categories of employees
given by Assistants (A), Clerks (C), Managers
(M) and an Executive Officer (E). The
company provide 310,000, 325,000, 350,000
and 31,00,000 as salaries to the people
who work in the categories A, C, M and E
respectively. If A, A,, A;, A, and A, were
Assistants; C,, C,, C,,C, were Clerks; M, M,,
M, were managers and E , E, were Executive
officers and if the relation R is defined by
xRy, where x is the salary given to person y,
express the relation R through an ordered
pair and an arrow diagram. [FRT - 2022]
A—Assistants — A, A, A A, A
C — Clerks
M — Managers
E — Executive officer — E, E,
xRy is defined as x is the salary for assistants is
10,000, clerks is 325,000, Manger is 350,000
and for the executing officer 31,00,000.
= R={(10,000, A)), (10,000, A,), (10,000, A,),
(10,000, A,), (10,000, A,), (25,000, C,),
(25,000, C,), (25,000,C,), (25,000, C,)
(50,000, M), (50,000, M),
(50,000, M,), (1,00,000, E,),
(1,00,000, E,)}

ST

0

0.0

zzz

ol

S

EXERCISE 1.3

Let f= {(x,y)|x,y € N and y = 2x} be a relation
on N. Find the domain, co-domain and range.
Is this relation a function?

94 Givenf = {(x,y)|r,y € Nandy=2x}

Whenx =1, y=2(1)=2
Whenx =2, y =2(2)=4
Whenx =3, y =23)=6
Whenx =4, y = 2(4)=8 and so on.

R ={(1,2),(2,4),3,06),(4,8),(5, 10),...}
Domain of R = {1, 2, 3, 4,...},
Range of R={2,4,6,8,...}

enquiry@surabooks.com

(1)

(ii)
(iii)
(iv)

T T T T T T T e T T T ey

Since all the elements

of domain are related

to some elements of
co-domain, this relation
fis a function.

LN L B W = )Z

Let X = {3, 4, 6, 8}. Determine whether the
relation R ={(x, fix)) [x e X, fix)=x’+1}isa
function from X to N ?

x = {3,4,6, 8}

R = ((o /v € X, @)=+ 1}
f(x)=x>+1 A
f3)=32+1=10
fid)=4+1=17
f(6)=62+1=37
f(8)=82+1=65

R={(3; 10), @, 17), (6, 37), (8, 65)}
Yes, R is a function from X to N.
Since all the elements of X are related to some
elements of N.

Given the function f: x — x?— 5x + 6, evaluate

®H -1 (i) f2a)

(iii)) £(2) (iv) flx-1)

Give the function f: x — x?> — 5x + 6.
1) = ((1P=5-1)+6=1+5+6=12
f(2a) (2a)*> - 5Q2a) + 6 =4a*>—10a + 6

f2) = 22-52)+6=4-10+6=0
for—1) = (=12 =5x—1)+6
X2 -2x+1-5x+5+6
= X2-Tx+12

A graph representing the function f{x) is
given in figure it is clear that /'(9) = 2.
10

O

2,
N

et ]
%

S —~ D WA LI X

123456728910

(0)

Find the following values of the function

(@ f0) (b)f(7) (0 A2) (@) £(10)

(ii) For what value of x is f{x) =1?
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6.

Sol.

(iii) Describe the following

(i) Domain (ii) Range.
(iv) What is the image of 6 under f?
(i)  From the graph
(@) f(0)=9 (c) f(2)=6
(b) f(7)=6 (d) 7(10)=0

(ii)

(iii) Domain

Atx =95, f(x)=1
={0,1,2,3,4,5,6,7,8,9, 10}
{x|0<x<10,x e R}
Range = {x|0<x<9,xe R}
=1{0,1,2,3,4,5,6,7,8,9}
(iv) The image of 6 under fis 5. Since when you
draw a line at x = 6, it meets the graph at 5.

Letf(x)=2x+5. Ifx#0 then find S/&X*2~f2),
Given f(x) =2x+5,x £ 0. X
fx) = 2x+5

= f(x+2) = 2x+2)+5
= 2x+4+5=2x+9
- f2) = 22)+5=4+5=9
LSO -f(2) L 24979 2x
D X X
A function fis defined by f(x) =2x-3
® g/ OIS
(ii) find x such that f'(x) = 0.
(iii) find x such that f{x) =x.
(iv) find x such that f{x) = f(1 —x).
Given f(x) = 2x—3
. SO+ /(1)
(1) >
f(0) = 2(0)-3=-3
(1) =2(1)-3=-1
SO+ D B A4
.o 2 S 2 - 2
(i1) f(x) =0 =>2x-3=0
2x = 3
3
x= =
2
(1i1) fx) = x=>2x-3=x=2x—-x=3
x =3
(iv) J&x) = f(1-x)
2x-3 =2(1-x)-3
2x—3 = 2-2x-3
2x+2x = 2-F+7F
4x = 2
X = Z = X= E

enquiry@surabooks.com

L T T T T T T T T e T T T T T T TIPS P E S )

N

S

il

(7
ol

g

S

—
o

An open box is to be made from a square
piece of material, 24 cm on a side, by cutting
equal squares from the corners and turning
up the sides as shown in figure. Express the
volume V of the box as a function of x.

X igt
%

= Volume of the cuboid
[ b < h cu. units

—_—
YT

Volume of the box

Herel = 24 —2x
b = 24 -2x
h = x
=V = (24-2x) (24 - 2x) x x
= (576 —48x —48x +4x*)x
V = 4x3-96x%+ 576x

A function f'is defined by f{x) =3 — 2x . Find
x such that f(x?)= (f(x))>. [Qy.& Hy - 2023]
Given f(x) =3-2x
Also, it is given that /' (x?) = [f (x)]
f(x*) = 3 —2x’[Replacing x by x’]

.. (1)
[FO)F = (3 -2x)>=9 — 12x + 4x°
..(2)
[ (a— b)? = a® - 2ab + b?]
From (1) and (2),
= 9—12x+4x> = 3-2x2 .
= 9 12x+4x>-3+2x*> = 0
= 6x>—12x+6 = 0 1/2\1

Dividing by 6, we get x> —2x+ 1 =0
On factorizing we get, (x — 1) (x-1)=0
= x =1

A plane is flying at a speed of 500 km per
hour. Express the distance d travelled by the
plane as function of time 7 in hours.

distance covered

Speed

time taken
=  distance = Speed x time
= d = 500 x ¢ [. time = ¢ hrs]
= d = 500¢

. The data in the adjacent table depicts the length of

a person forehand and their corresponding height.
Based on this data, a student finds a relationship
between the height (y) and the forehand length(x) as
y=ax+ b, where a, b are constants. [PTA-4]

Ph: 8124201000/ 8124301000
Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net

www.TrbTnpsc.com

www.surabooks.com

Y7 Sura’s = X Std - Mathematics = Chapter 1 = Relations And Functions

Length ‘x’ of C e s
il (i ) Height ¢y’ (in inches)
35 56
45 65
50 69.5
55 74
(i)  Check if this relation is a function.
(ii) Find a and b.
(iii) Find the height of a person whose
forehand length is 40 cm.
(iv) Find the length of forehand of a person
if the height is 53.3 inches.
H9@ Given relationis y =ax + b (1)
(i)  The given ordered pairs are
R=1{(35,56) (45, 65) (50, 69.5) (55, 74)}
Since all the elements
of x are related to some
elements of y, the given
relation is a function.
(ii))  Consider any two ordered pairs (35, 56)
and (45, 65)
Xy
Substitute (35, 56) iny=ax + b we get,
56 = a(35)+b .. (D)
Similarly substitute (45, 65) in y= ax + b, we get
65 = a(45)+b -(2)
2)—- 65 = 45a+ (2)
(1 — 56 =u»35a+ ..(3)
Substituting, 9. = 10a
9
= = —=09
ST
Substituting @ = 0.9 in (1) we get
56 = 35(0.9)+5bh
= 56 = 31.5+5b
= b = 56-31.5=245
Sincey = ax+b
Wegety = 09x+24.5
(iii)  When the length of the forehand
x =40 cm,
y = 0.940)+24.5
= y = 36+24.5=060.5 inches
. The required height of the person is 60.5
inches.

enquiry@surabooks.com

1.

Sol.

L 4
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[}
L}
1
1
1
I
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

R\

(iv)  When the height of the person
y = 53.3 inches,
533 = 09x+245
[ y=009x+24.5]

= 533-245 = 09
= 28.8 = 0.9x

28.8x10
= T 09 %10
= x = % =32 cm

Determine whether the graph given below
represent functions. Give reason for your
answers concerning each graph.

. Y . Y
(0 /L (i)
’ Qt X ) j )
Y’ Y
Y . Y
— (iv)
< ¢ (0] >
O X X’ X
|
Y’ Y’
) Y 3 Y
(i) (i) | >
O X X’ )_ X
Y’ Y’
Y
(i) f (iv)
0
X’ Op X X’ X
Ty ‘/ Y’

(1)

(i1)
(iif)
(iv)

It is not a function. The graph meets the
vertical line at more than one points.

It is a function as the curve meets the
vertical line at only one point.

It is not a function as it meets the vertical
line at more than one points.

It is a function as it meets the vertical line
at only one point.
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P ER =1L 2),(2,2), 3, 2), (4, 3), (5, 4))

2. Letf:A— B be a function defined by f(x) = %—1, (i)  Anarrow diagram.

where A ={2,4,6,10,12}, B=1{0,1,2, 4,5, 9}. f
Represent f by [Govt. MQP - 2019; April - 2023] e
(i) setof ordered pairs; "

(ii) a table;
(iii) an arrow diagram;

7 X

={(2,0), (4, 1), (6, 2), (10, 4), (12, 5)}

1
1
1
1
1
1
1
1
1
1
1
(iv) agraph ! 4
ffA—>B . \
1
A={2,4,6,10,12},B=1{0,1,2,4,5,9 N
{ b b b b }5 { b > ,2 b b } E (ii) atable form ‘
X
fe) = -1 J@=5-1=0 | x | 1] 2]3]4
I f®] 2|2 4
4
@ =Z-=1 1 fe= g—l =2\ (iii) A graph repfesentation.
1 -
| ;
10 12
f(10) = —-1=4 f(12)= —-1=5 : i
2 2 I
1
(1)  Set of ordered pairs I i
1 (5
1
1
1

(il) atable
©®© ©
X 2 4 6 10 | 12 |
fx)| 0 1 2 4 5

(iii))  an arrow diagram;

A f B
R
) Q@

4. Show that the function f: N — N defined by
f(x) =2x—1is one - one but not onto.

f:N>N
fx) = 2x—1
N = {1,2,3,4,5,.}
() = 2)-1=1
f2) = 22)-1=3
f3) = 23)-1=5
f4) = 24)-1=7
£5) = 25)-1=9
N f N(7 (x)

\ _ / In the figure, for

different elements
in x, there are
different images in

3. Represent the function f'={(1, 2),(2, 2),(3, 2),
4, 3), (5, 4)} through

@ - m e mmmm m e E et e e, ... ..., .m .- - —m—m—m————— =

(i) an arrow diagram f(x).
(ii) a table form
(iii) a graph
enquiry@surabooks.com Ph: 8124201000/ 8124301000
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5.
Sol.

S0/

Hence f: N — N is a one-one function.
A function f: N — N is said to be onto function
if the range of fis equal to the co-domain of /.
Range={1,3,5,7,9, ...}
Co-domain = {1, 2,3,..}
But here the range is not equal to co-domain.
Therefore it is one-one but not onto function.
Show that the function f: N — N defined by
f(m)=m*+m +3 is one - one function.
N 5N
fm) = m*+m+3
N = {1,2,3,4,5,...},me N
fm) = m*+m+3
f(l) = 1’+1+3=5
f2) = 22+2+3=9
f(3) = 3?+3+3=15
f(4) = 42+4+3=23
N N
m f Sm
\ o/
| o |
o
In the figure, for different elements in the
domain, there are different images in codomain.
Hence f': N — N is a one to one but not onto
function as the range of f is not equal to co-
domain.
Co-domain = N
Range = {5, 9,.15, 23, ...}
Hence it is proved.
Let A={1,2,3,4} and B=N. Let f: A— B be
defined by f{x) = x° then, [Hy. - 2019 & 2023]
(i)« find the range of f
(ii)  identify the type of function
A= {1,2,3,4}
B =N
fiA—> B, f(x)=x3
() = 1¥=1
f2) = 2°=38
f(3) = 33=27
f(4) = 4 =64

(i) Therange of f= {1, 8, 27, 64,....}

enquiry@surabooks.com

L 4
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[}
L}
1
1
1
I
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

R

(i)

NN AW — )H

Here co-domain=B = {1,2,3 ...}

Range = {1, 8; 27, 64}

Different elements have different images
and co-domain # Range.

~The given function is one - one and
function.

In each of the following cases state whether
the function is bijective or not. Justify your
answer.

(i) f:R — R defined by fix)=2x+1
(i) f:R — R defined by f{x) =3 — 4x?

HJl Given f: R — R is defined by f(x) =2x + 1

(i) Whenx = 1,
£(1) = 2(1)+1=3
f2) = 22)+1=5
£(0) = 200)+1=1

fED) = 2(-D)+1=2+1=-1
f[%j = 2(%) +1=1+1=2andsoon
R R

Here, different
element in domain
have different
images in B and
Co-domain

= Range =R.

RRARN

.. fis a bijective
function.
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(i) Givenf: R — R is defined by f(x) = 3 — 4x? ' 9.

f(1) = 3-4(1)=3-4(1)
=3-4=-]

fQ) =3-42)=3-4(4)
=3-16=-13

£(0) =3-4(02=3-0=3

1) = 3-4¢-17=3-4(1)

=3-4=-1

Here, different
element in domain
do not  have
different images in
B. Since 1 and —1
are related to —1.

.. fis not one - one.
Hence, f is not a
bijective function.

Let A = {—1, 1}and B ={0, 2}. If the function
f:A — B defined by f(x) = ax + b is an onto
function? Find a and b.

A Given A= {-1,1},B=1{0,2} andf: A = B.is

defined by f(x) = ax + b is an onto function.

A B
JE=1) =0
= a1)+bi= 0. [ Subx=-1,y=0
iny=ax+b]
= —a+tbh =0 (1)
Also f(1) = 2
= all) +b =2 [.-Subx=1,y=2
iny=ax+b]
4 4 +b =2 2)
()= — A4 +b =
Adding, 2b =
= b = z—1
2

Substituting b
a+1
Soa

([
[\

enquiry@surabooks.com
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10.

If the function f'is defined by

xt2; x>1

f@=| 2. _1<x<1 find the values of
x—-1; -3<x<-1

i fB) (i) A0)

(i) A-1.5) V) fQ)+A-2)

i) fB)=f()=x+2=3+2=5]"%=3]

(i) f(0)=2 [ 0e-1<x<1]
(i) f(-1.5)=x—1=-15-1=-25
(iv) f(2) +/(=2)

f2) =2+2=4 [.fix)=x+2]
f(2) =22-1=3 [ fi=x—1]
f@+/(2) =%=3 41

A function f': |=5, 9] R is defined as follows:
6x+1;/-5<x<2
2 .
flx) = Sx“—1; 2<x<6
3x-4; 65x<9
Find (i) A(-3) +f(2) (ii) £ (7) —f(1) [PTA-4]

i) 24 +f8) ()2 DS Opp 4

S@+ f(-2)
f:[-5,91>R
i f(H+A2)
f(=3) = 6x+1=6(=3)+1=—-17
f2) = 5x*-1=52%)-1=19
L) HfQR) = —17+19=2
i) f(-A
f(7) = 3x-4=3(7)-4=17
f(1) = 6x+1=6(1)+1=7
f(D—f(1) = 17-7=10
(i) 2 (4)+f(®)
f(4) = 52-1=5x42-1=179
f(8) = 3x-4=3x8-4=20
S 2f(4)+f(8) = 2x79+20=178
(lV) 2f(—2)—f(6)
S@+ f(-2)
f(=2) = 6x+1=6(-2)+1=-11
f(6) = 3x—4=3(6)-4=14
f(4) = 5x2-1=5@-1=79
f(=2) = 6x+1=6(-2)+1=-11
2/(2)-f(®) _ 2(=1D-14 -22-14
S®+f(=2) 79+ (-11) 68
_ 369
68 17
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11. The distance S an object travels under the 5_9
R

influence of gravity in time 7 seconds is given by

1
S(n)= > gt*+at+ b where, (gis the acceleration 1

Il
(@
—
vk
N

due to gravity), a, b are constants. Verify whether
the function S (9)is one-one or not. [PTA - 3]

Il
X

1
Sol.| S(r) = Egt2+at+b
Lettbel, 2,3, ..., seconds.
1
S(1) = 5g(12)+a(1)+b= Eg-i—a-i-b

Il
|
N
o
(o]

1. Using the functions f and g given below, find
fog and gof'. Check whether fog = gof'.
() fix)=x-6,g(x)=x> [June - 2023]

2
(i) f)= ", ge=2x*=1

1
S2) = ;8@ +a2)+b
=2g+2a+b

Yes, for every different values of ¢, there will
be different values as images. And there will be
different pre-images for the different values of
the range. Therefore it is one-one function.

12. The function ‘© which maps temperature in
Celsius (C) into temperature in Fahrenheit

9
(F) is defined by #(C) = F where F = 3 C +32.

i) 00 =20 =3 -

(iv) fix)=3+x,8(x)=x—4 [Govt. MQP - 2019]
() )y =4¢-1,gx)=1+x
3 ()" Given fix) = x—6, g(x) = x>

Find, Jog(x) = figtx) =Ax?) [ gx)=x"]
® «0) [PTA- 1] = x*-6
(i) #28) [In f{x) = x -6, Replace x by x’] ...(1)

°
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
e 1
(iii) #(-10) ! gof(x) = g(ftx)) =g(x—6)
(iv) the value of C when #(C) =212 [PTA-1] | [ f(x)=x—6]
(v) the temperature when the Celsius value ! = (x—6)?
is equal to the Fahrenheit value. [PTA-1] : [In g(x)= X2, Replace x by x — 6]
S (i) 1(0) = f; 5 : = x>~ 12x+ 36
.. 2_ 2 2
F = —(C)+32= 2(0)+32=32°F : [ (a=b)y=a"—2ab+b"] ..(2)
5 5 | From (1) and (2),
1
| Jog(x) # gof(x)
1
| i) Givenf(x) = 2, g(x)=2x2— 1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

. 9 252
(i) 128) = F=_(28)#32= == +32
= 50.4+32&82.4°F
9
(i)  (-10) = B=<(10)+32 = 14°F
(iv)  #C) =212

X
fog) = fig) =f(2¢ 1)
) [ g@=2¢~1]

2x% -1

9
212= — C=212-32=180
5 20

9 J/86X5

2= 180> C= 222 _q00°C
5 = o

C = 100°C.
(v) whenC=F

9
l.e— 2
1'65 KA [Inf(x)= o Replace x by 2x* — 1] ...(1)

2 2
goflx) = g(fix)) = g(;) [/ ="1]

2
2(2) .
* 2

[In g(x) = 2x*> — 1, Replace x by —]
4 8 ;
- 2(—2)—1= =1 )

X

9
-C+32 =¢C
5 9
32=C--=-20C
5

X
32 = C(l 22 From (1) and (2),
: Jog(x) # gof(x)
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(i) x*+x+7=0
Lety=x>+x+7

Step 1:
-4 | 3| =2 | -1 0 1 2 3 4
16 9 4 1 0 1 4 9 16 &
7 7 7 7 7 7 7 7 7
19 13 9 7 7 9 13 19 0
Step 2:

Points to be plotted: (-4, 19), (-3, 13), (-2, 9), (-1, 7), (0, 7), (1, 9), ,19), (4,27)

Step 3: '
Draw the parabola and mark the co-ordinates of the parabola wh teﬁt with the x-axis.

Step 4:

The roots of the equation are the points of intersection of the parabola with the x axis. Here the
parabola does not intersect the x axis at any point.

So, we conclude that there is no real roots for the given quadratic equation.
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(iv) x*-9=0
Lety=x>-9
Step 1:

Step 2:
The points to be plotted: (4, 7), (-3, 0), (-2, -5), (-1, -8), (0,-9), (1, -8),
Step 3:
Draw the parabola and mark the co-ordinates of the parabola whi terse%th
ﬁ S— ‘ &
5
8)7 %

Step 4:
The roots of the equation are the co-ordinates of the intersecting points (-3, 0) and (3, 0) of
the parabola with the x-axis which are —3 and 3 respectively.

Step 5:

Since there are two points of intersection with the x axis, the quadratic equation has real and
unequal roots.

.. Solution{-3, 3}
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V) xX2-6x+9=0

Lety=x>—6x+9

Step 1:
=3 | 2 | -1 0 1 2 3 4
9 4 1 0 1 4
18 12 6 0 -6 | —12
9 9 9 9 9 9
36 | 25 16 9 4 1
Step 2:
Points to be plotted: (4, 49), (-3, 36), (-2, 25), (-1, 16), (0, 9), (1, 4), ( , (4, 1)

Step 3: '
Draw the parabola and mark the co-ordinates of the intersecting “

ep 4:
The point of intersection of the parabola with x axis is (3, 0)

Since there is only one point of intersection with the x-axis, the quadratic equation has real and
equal roots.

.. Solution (3, 3)
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vi) 2x-3)(x+2)=0
2x2—3x+4x—-6=0;2x>+ 1x—6=0
Lety=2x>+x-6=0

Step 1:
-4 | 3| =2 | -1 0 1 2 3 4
16 9 4 1 0 1 4 9 16
32 18 8 2 0 2 8
-4 | 3| 2 | -1 0 1 2

6| 6] 6|-6]-6|-6]-6
2290—5—6—34

Step 2:
The points to be plotted: (-4, 22), (-3, 9), (-2, 0), (-1,-5), (0,-6), (1, %’(3 15), (4, 30)

Step 3:
Draw the parabola and mark the co-ordinates of the intersecti the parabola with the
X-axis.
2 -
% ‘1
i l
6
- >
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7 Sura’s X Std - Mathematics = Chapter 3 = Algebra
Step 4:

The points of intersection of the parabola with the x-axis are (-2, 0) and (1.5, 0).
®,

Since the parabola intersects the x-axis at two points, the equation has real and unequal roots.
. Solution {-2, 1.5}
2. Draw the graph of y = x> — 4 and hence solve x* —x — 12 =0.

S0/
-4 | 3| 2] - 0 1 2 3
16 9 4 1 0 1 4 9
-4 | 4| 4| 4| 4| 4| 4| 4
12 5 0 3| 4|3 0 5
N i
o ‘
i o
>
4
8
i Y
-x-12 =0
x+0x-4 =y
2 x-12 =0
6 ®H M O
x+8 =y
y = x+8
-4 | 3| 2| -1 0 1 2 3 4
8 8 8 8 8 8 8 8 8
4 5 6 7 8 9 10 | 11 | 12
Point of intersection (-3, 5), (4, 12) solution of x> —x — 12 =01is -3, 4
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3. Draw the graph of y = x* + x and hence solve x* + 1 =0.

S0/ |
-4 | 3 -2 | -1 0 1 2 3 4 5
16 9 4 1 0 1 4 9 16 | 25
-4 | 3 -2 | -1 0 1 2 3 4 5
12 6 2 0 0 2 6 12 20 30

Draw the parabola by the plotting the points (4, 12), (-3, 6), (-2, 2), (-1, 0), (0, 0), (1, 2), (2, 6)

(4, 20), (5, 30)

@’&

Plotting the points (-2, —3), (0, —1), (2, 1) we get a straight line. This line does not intersect the parabola.
Therefore there is no real roots for the equation x> + 1 = 0.
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X Std - Mathematics ™ Chapter 5 ™ Coordinate Geometry
(i) Any line parallel to y axis will be of the ¢ N 3
formx = c. = =
5 4 x(f - 1} -3
I Y Comparing (1) with y = mx + ¢ we get,
= 3

= 2x =5 m = 3 andc= ——=

= 2x-5=0 N 1-/3

The equation of a straight line is 2(x —y) +5=0. NE) NERNET T |
—_— X S

Find its slope, inclination and intercept on the

Y axis.
2—-y)+5 =0
= 2x-2y+5 =0
= 2y =2x+5
5
= y :x+§ .. (D) = slope=1

Inclination, m =1

[Equating (1) with y = mx + c]

= tan® =1 =tan 45°
0 =45°
. 5
= y Intercept = yZE [-C==

Find the equation of a line whose inclination is
30° and making an intercept — 3 on the Y axis.

0 = 30°
= c =-3

y intercept is = ¢ = -3 (i.e) let the equation of

linebe:y=mx+c

m = tan©
= m = tan 30°= —
§
R \/§x+c
Whenx =0,y=-3
= 3 =0+te=c=-3

X
.. Equation ofline:|.V' = B 3

= x=3p=3/3=0  [Multiplied by /3 ]

Find the slope and y intercept of

J3x+(1=3)y=3.

I Given equation is 3+ »(1-43) =3

=  y1-3) = —x3+3

Dividing by (1— \/5) we get,

. _oo3, 3
S TN TN

1= 1-8

enquiry@surabooks.com

=  Slope=m = K:\E—l Bl

[Rationalising the denominator]

- _ BB
(v3-1)(V35%1)
= m = G
3 Y
[@B-DEBHY =37 - (1 =3-1]
3+f 3 l+xf
=m > and ¢= - \/— 1+
[Rationalising the denominator]
£ _ 3(11+\35)
[ (1-B)Y1+3) =12 By=1-3=-2]
A . = 34383

Hence slope is

37132\5]‘

3 . .
and y intercept is

5. Find the value of ‘@, if the line through (-2, 3)
and (8, 5) is perpendicular to y = ax + 2.
S (-2,3) y=ax+2

(8,5)

Let m, be slope of line joining (-2, 3) and (8, 5).
let m, be slope of y=ax +2 = ax -y +2=0.

5-3 _Z 1

T 8- (2) W s

5

{ Slope— ) 1}
Xy =X

co - efficient x
a | Slope=———7"—7""-—
co - efficient y

m,

" The lines are perpendicular = m < m, = -1

= cxa=-1 =5[a=—3]
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The hill in the form of a right triangle has its
foot at (19, 3)The inclination of the hill to the
ground is 45°. Find the equation of the hill
joining the foot and top. [PTA-2]
Let AB be the hill and B (19, 3) be the foot of
the hill
Given ZACB = 45°
Slope = m = tan 6 = tan 45° = 1 and (x, , y,) is
(19, 3)
Equation of ABisy -y, =m (x —x))
[Slope - point form]
= y=3 = 1(x—-19)
= y—3 = x—-19
= x-19-y+3 = 0
= x—y—-16 = 0
A
45°
B (19, 3) C
Which is the equation of the hill joining the foot
and top.
Find the equation of a line through the given
pair of points
2 -1 )
i 2,— —,2
(i) ( ,3) and(z,
(i) (2,3)and (-7,-1)
(i) Equation of the line in two point form is
YN X=X
Ya=n L @AM
y 2
3 . x=2 ) 2
->—34 [0 G ) is 20 D)
2 1 3
2-= g 2 |
. () is = . 2]
3y—2
Z x-2 3y-2  2(x-2)
T 6-2 -1-4 7§ -5
7 2
=-15+10 = —16x+32
[Cross multiplying]

= 16x— 15y +10-32=0
= 16x— 15y-22=0

enquiry@surabooks.com

(i)

®

S

©°

S

T T A ) T T T T e ey

(x,»)is(2,3) (x,,)is (-7,- 1)

.. Equation is YN o ATh
V2= X
y-3 _ x-2 - y=3 _ x=2
-1-3 -7-2 —4 -9
-9(r-3) = -4(x-2)
-9 +27 = —4x+38
4x-9y+27-8=0 SAx-9+19=0

A cat is located at the point(=6,—4) in xy plane.
A bottle of milk is kept at (S, 11). The cat wish
to consume the milk traveling through shortest
possible distance. Find the equation of the path
it needs to take its milk.. [ SRT - 2022; April - 2023]
Let A be the position of the cat and B be the
positionof the bottle of milk.

Shortest path between A and B is a line joining
A and B,

xl yl y’
(=6, -4)
.. Equation of AB is Yon _X7h
Vo= Xy =X
N y-C4 _ x=(=0
H-(4 56
y+4 _ x+6
- 1144 516
y+4 xX+6
= 15 11
= y+44 = 15¢+90

(by cross multiplication)
= 15x+90-11y-44 = 0
= 15x-11y+46 = 0
If the vertices of a AABC are A(6, 2) B(-5,-1)
and C(1,9). [PTA - 6; Sep. - 2021]
i) find the equation of median
ii) find the equation of altitude

A(6,2)

C(1,9)

PQ

B (-5,-1)

Ph: 8124201000/ 8124301000
Kindly Share Your Study Materials to Our Email Id - padasalai.net@gmail.com


https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

www.surabooks.com

E.ﬁ Sura’s » X Std - Mathematics ™ Chapter 5 »» Coordinate Geometry
nt y

Let AP be the altitude ? 11. You are downloading a song. The perce
— AP L BC : (in decimal form) of mega bytes remaining
9 (-1 Yo —y | to get downloaded in x seconds is given by
Slope of BC = { Slope = #} | y=-0.1x+1.
1=(=5) Xy x| (i) find the total MB of the song.
_ 10 _5 | (i) after how many seconds will 75% of the
6 3 | song gets downloaded?
-1 -3 I (iii) after how many seconds the song will be
Slope of AP = (5~ = 7 ! downloaded completely?
S1 f(BC 5 !
ope[f). El"he) are perpendicular] | §1 (i) Given equationisy=—0.1x+1
' 313 Petp | Total MB of song can be ©btained when
Equation of line AP: y -2 = ) (x—6) ! time =0 0
Sox o=
[."y_yle(x_xl)] : = % =1 MB
=5y-10 = -3x+18 ! s i
= 3x+5y = 28 | (i1) time when 75% of song is downloaded
= 3x+5y-28=0 | = remaining % =25% = y=0.25
Let AQ be the median = Q is mid point of BC 0.2555 0l 1
-5+1 =149 1 = Oadx =0.75
:>Q=( ) j=(2,4) : = x =75 = 7.5 Seconds
1 e .
(iii)song will downloaded completely when
|:QiSX1+x2’y1+y2] : remaining % =0 =y =0
2 2 | = 0 =-0.1x+1
4-2 2 -1 ! =
Slope of AQ= —=— = — : N x =10
-2-6 -8 4 \ .10 seconds
-1
~.Equation of line AQ: y -2 = 7 X (x—6) 1212. Find the equation of a line whose intercepts
1 | on the x and y axes are given below.
= y=2 =—(x-6) ! . . 3
4 ! i 4,-6 (i) -5, —
4y-8 = —x+6 T A
— x+dy = 14 i1 ¥ (i) Equation of the line in intercept form is
1
= x+4-14 =0 ! Lr%:
10. Find the equation of a straight line which | “ X y
_5 . = Z+_—6 =1 [‘.‘a=4,b=—6]
has slope — and passing through the point '
1,2 4 ' 3x -2y
-1,2). May-2022] 1 S = 1=y
-5 .
Sol. m=7,p01nt=(—1,2)=(x1,y1) E N 3x—2y—12 = 0
-5
=>R2- @) L (i) Z42-
1 —
[-'~y,y1:m(x,xl)] 1 5 —
-5 I 4
= y-2= 4 (c+1) | Which is the equation of the line in intercept
! form
=402 = S+ 1) | A
= 4y-8 = —5x-5 : = 5 3
= Sx+4y = 3=5x+4y-3=0 : —3x+20y |
= —_— =
| 15
I = —3x+20y = 15
1
1 3x-20p+15 =0
¢
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Find the intercepts made by the following ¢ m
lines on the coordinate axes. :
(i 3x-2y-6=0 [Sep.-2021] | 1. Find the slope of the following straight lines
(i) 4x+3y+12=0 ! . . 3
) | i S5y-3=0 (i) x-—-=0
(1) 3x—2y-6 0 X ) B 17
To find x intercept puty = 0 S5 Sy-3=0
= 3x-6 =0 ! S5y =3
= x =2 ! _ E 1
To find y intercept putx = 0 | Y 5 g7
= 0-2y-6 =0 ! = y = mx+tc .. (2)
- y = " Comparing (1) and (2
Hence the intercepts are 2, —3 | omparing (1) and ( 3)
(i1) 4x+3y+12 =0 | y= 0x+§ . Slopem=0
To find x intercept puty = 0 ! (ii) T S =0:>7x+0y—i ~0
= 4x+0+12 0 ! 17 17
= x =3 I — Co —efficient of x
) ' Slope (= -
To find y intercept putx = 0 I Co —efficient of y
= 0+3y+12 =0 : -7
= - fi
N ) =4 | m 0 (undefined)
Hence the intercepts are -3, —4. . 2.4 Find the slope of the line which is
Find the equation of a straight line : (i) parallel to y = 0.7x —11
(i) passing through (1,~4) and has intercepts : (ii) perpendicular to the line x = —11
which are in the ratio 2:5 : §a (i) Givenlineisy = 0.7x—11
(i) passing through (-8, 4) and making equal |, line parallel toy = 0.7x —11is m = 0.7
intercepts on the coordinate axes ! y =07x+C
(i) ratio of intercept = 2:5 | If the lines are parallel, slopes are equal
y=intercept | .. The slope of the required line is m = 0.7.
Slope = x-Tercem ! (i) Givenlineisx = —11
. 3 _5 ! _ Co -efficient of x
. Slope of line = ) =>m= 5 X Co - efficient of y
1
.. The required equation is ! el
! = m = —— = o
Y=y = mx—x) - . Slope i 0
s I .. Slope is e
= y=-4) = ?(x_l) : x=—114 ¥
1
= 20 +4) =-5x-1) |
> Sx+2y+3 =0 ! < 0 .
" . y intercept .
(i1) Slope of line = ~————x— X
X 1mtercept X
ax—1 1
= m = =—1 1
a I
. The required equation is . 3. Check whether the given lines are parallel or
y=y, = mx-x) ! perpendicular
= y=4 =-1x-(3)) ! . x y 1 2x y 1
y—4 = x-8 B R R A TR TR
= x+y+4 =0 . (i) 5x+23y+14=0and23x—5y+9=0
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S (i) Given line is> + £ + L=0 (1)7 -2 i
34 7 o -7 7
and 2x LY 1 _ 0 @ ! Given that the lines (1) and (2) are perpendicular
3 2 10 1 = mom, = -1
1
Let m, and m, be the slopes of the given lines | +3
1 ’ . I = £ LAy z = 7[1 = p_+3:1
) _ Co-efficient of x | v 7 7
- Co - efficient of y | = pt3 =7
1 ! = p =7-3=4
_ 3 LA 4 memay wr ot
1 31 3 rom ! 5. Find the equation of a straight line passing
4 1 through the point P (-5, 2) and parallel to the
Co - efficient of x | line joining the points Q(3,-2) and R(-5,4).
m, = — ; 4 w
2 Co -efficient of y : 9 Slope of QR = V2 2 (2)
) ! X, =X, -5-3
3 -2 2 4 I s Pl 3
T 1T T @l Y 50"
2 I Pis (-542)
Since m, = m,, the given lines are parallel. | Required equation is
(i1) The given lines are ! Y=y, = m(x—x)
5x+23y+14 = 0 (D) ! - -3
and23x —5y+9 = 0 I y=2= 5 &*3)
Let m, and m, be the slopes of lines (1) : 4y—8 = 3x-15
and (2) \ 3x+4y+7=0
Co -efficientof x  —3 | . . . .
somp= " Co - officient of =3 and 6. Find the equation of a line passing through
0-¢ 101?n oty : (6,-2) and perpendicular to the line joining
mo— Co - efficient of x  —23,7723 | the points (6,7) and (2,-3).
2 Co-efficientof y« =5 (5 Sol, Slope of line joining (6, 7) and (2, -3) is
—5] [26(] ' 3-7 -10 5 vy -y
Considerm, xm, = | |X|~7 |=—1 ' == == - Slope = =21
28 ) 8 : 2-6 -4 2 {pxz—xl
Sincem m,=—1,the givenlines are perpendicular | Slope of the perpendicular line = _?
1
4. If the straight lines 12y = —(p + 3)x + 12, | __1 _ -1
12x —7y =16 are perpendicular then find ‘p’. | Lm, m,=—1=m, = m, ]
[April -2023] : Required equation 1S
HaA Given lines are 12y =— (p + 3)x + 12 . (1) ! y+2 = —2 (x—6)
and o 12x -7y = 16 - (2) 5
Let m, and m, be the slopes of the lines (1) | S5p+10 = 2x+ 12
and (2) ! 2x+5y-2=0
(D= 12y +(p+3)x = 12 . ' 7. A(-3,0) B(10,-2) and C(12,3) are the vertices
Cm = Co-efficient of x of AABC . Find the equation of the altitude
o Co-efficientof y through A and B. [Hy. - 2019]
1
B (p +3) d : m A.(735 0)5 B(loa 72)9 C(lza 3)
T an | Since AD L BC
Co -efficient of x :
= _ 1
g Co-efficientof y 1
¢
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Y Sura’s ~ X Std - Mathematics = Chapter 5 » Coordinate Geometry
Ap(=3,0) * L 6 _
: Slope of AB o A2 03
| 6-(—4) 10 5
1
E X - 5
=Sl fCD = —— =-[.CD L AB
| ope 0 S5 5! ]
a 01?_2) o) (15 3) : ~.Equation of CD is S
-1 I y=(D =3 -1
Slope AD = Slope of BC : 3
B ) 3p+1) =5x-5=3y+3=5x-5
~.Slope of BC = 27N _3-(2) _5 : 5x — 3y — 8 = 0 is the required equation of the
Xy =X 12-10 2 line.
1
) ! Find the equation of a straight line through
~.Slope of AD = 52" 5 | the intersection of lines 7x 43y =10,5x—4y=1
-.Equation of AD = y —y, = m(x — x,) | and parallel to the line 13x+ Sy +12=10
) : The given lines are
y=0 =3 (x=(=3)) ! Tx+3y = 10 (D)
5y =2x—-6 : and Sx—4y =1 ..(2)
2x+5y+6 =0 (D! Letais solve (1) and (2)
Since BE L AC | ! ()xs = 35x+ 15y = 50
_ — 1 ©) () ©)
Slope of BE = g, e of AC %7 3sv-28y = 7
3-0 3 1 : Subtracting, 43y = 43
S1 fAC = ———F="— =
ope o 12-(=3) J/§ 5 : R . ﬁ
5 1 43
B(10, -2), slope of BE = -1 - -5 | = y =1
1/5 1 . .
. I Substitute y =1 in (2) we get,
.. Equation of BE = y — (-2) =~5 (x - 10) ! Sx—4(1) = 1
x+y+2-50 = . _
= 1+4
Sx+y—48 =0 () ! = > j
(1), (2) are the required equations of the altitudes 1 = x=3
through A and B. : = S_ 1
Find the equation of the perpendicular bisector : _ . _ > .
of the line joining the points A(—4, 2) and B(6,—4). , = The intersecting point (x,, y,) is (1, 1).
Mid RPoint AB is DC [June & Qy.- 2023] ' The required line is parallel to the line
46 2+(4) ) o : 1Bx+5y+12 =0
=Dis ) = (—, —j =(1,-1) = Slope of the required line = Slope of the given
2 2 2 2 : line
C | Co - efficient of x
! = m = .
X Co - efficient of y
: -13
| = m = —
| 5
| . Equation of the required line is y —y, = m
] : (x - xl) 1
A(42 D  B(6-4 ! - ol = Bl
I 5
¢
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Q.ﬁ Sura’s » X Std - Mathematics ™ Chapter 5 »» Coordinate Geometry
= 5(0-1) = -13(x-1) ?* 11. Find the equation of a straight line joining
= 15y—-15 = —13x+13 | the point of intersection of 3x + y +2 =0 and
= 5p-5+13x—-13 =0 | x — 2y — 4 = 0 to the point of intersection of
= 13x+5y-18 =0 1 T7x—3y=—-12and 2y =x+3. [PTA - 3]
1 . .
10. Find the equation of a straight line through | Sl Given lines are
the intersection of lines 5x — 6y = 2, . 3x+y+2 =0 (1)
3x + 2y = 10 and perpendicular to the line | x=2y-4 =0 (2)
4-‘; - 7y.+ 13=0 ! Solving (1) and (2) we get the point of
A Given lines are 1 intersection of the lines (1) and (2).
Sx—6y =2 (D) (1) = 3x+y =-2 (1)
and 3x+2y =10 - (2) )x3= 3x-6y = 12
Let us solve (1) and (2) : NGNS
1 = 5x—6y =2 : Ty 4214 Sy =72 |
2)x3= 9x+6y = 30 I Substi _ o
. X ubstitute y = -2 in (1), we get
Adding, l4x = 32 I 3x +(80)S2
- o2 16 | s 2+2=0
T :
o 1o ! The intersecting point is (0, -2) = (x,, y,)
Substituting x = 7 (1) we get, | Also, thelines are given as
1
. s [5]@ _ 5 s [16] 1oy Tx—3y =-12 (3
7 7 | x—-2y =-3 ..(4)
~ 80 ! (HXT = Ty—14y =-21
= oy = 7 -2 : @) = Tx- 3y =-12
6 = 80—14 6 _ 66 O )
- SN & 1y =9
11 I _9
Y TN ! Substitute y = - in (4), we get
1 |
. — -4 18
Y 3 : KX 2 = 3oy B3
16 11) 1 1
Hence, the intersecting point (x , y,) is [7,7J I 18 -33+18
! = x =3+
Slope of the given line 4x — 7y + 13 =0 is : [ERY
44 : -1
T3 | T
— 1
. Slope of the required line m = — I . The intersecting point of (3) and (4) is
1
(since they are perpendicular) ! ( -159 J (., 1,)
\ . . ! Xy Yy
. Equation of'the required lineisy —y, =m (x —x) 1111 X »
! .. The required line passes through and
11 ~7(_ 16 ! 0,-2)
= y——= = — X 1 Xy 2
7 4 7 ! -15 9
. 7y —11 _ —7(7x—16 ! 111 . o y=(=2) ,_p
7 4 7 I .. The required equationis= 9 L, T 15
1 i
= 4Ty -11) = —7(7x—16) ! 11 11 0
= 28y —44 = —49x+ 112 ! { Y-y _x xl}
=>28y—44+49x—112 =0 : Vo = Xy — X
= 49x +28y—-156 = 0 ‘
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! 4x—9
N y+ 2 _ X N y+ 2 _ X 1 X =
9+22 157 31 -0 v A A
11 11 u ! 1 —4-9 -13
= -15(y+2) =31(x) |
B I = -13y = 4x-9
= ~15y-30 =3lx : ~4x + 13y — 9 =0 is the required equation.
e300 e | y EXERCISE 5.5 W ¢
31x+ 15y +30 =0 is the required equation of the | —&j
line. ' Multiple choice questions.
Find the equation of a straight line through | 1. The area of triangle formed by the points
the point of intersection of the lines ! (-5,0), (0, —5) and (5,0) is
. . . 1
8x + 3y =18, 4x + 5y =9 and bisecting the line , [PTA - 2; Qy. & Hy.=2019; Sep. - 2021; SRT - 2022]
segment joining the points (5, —4) and (-7,6). | (A) 0 sq.units
Given lines are [Hy. - 2023] ! (B) 25 sq.unité
8x+3y=18 (1) : (C) 5 sq.units
4x+5y=9 ..(2) ! (D) none of these [Ans. (B) 25 sq. units]
solving (1) and (2) ! y
)= 8y+3y = 18 !
(2)x2= &Z:—lOy=18 .
I = >
(7) (7) ("") : (_5, N/(S’ 0)
*7_)/ =0 1
0,-5
y =0 : w( )
Substitute y =0 in (1), we get \ 11-5. .0 _5
8x+3(0) = 18 | A =2 X X;QXO
0 I 210775
' 1 1
o S 4 | - (25-(25)) = 2(50)=25
4 1
/Z( 1 2. A man walks near a wall, such that the
9 | distance between him and the wall is 10 units.
.. The intersecting point is —,0) ! Consider the wall to be the Y axis. The path
. . Y & 4 . : travelled by the man is
The mid point of tl.le line joining the two points ! (A) x=10 (B) y=10
(5,—4) and (-7, 6) is | (C) x=0 (D) y=0
['. the line is biseeting the points (5, —4) and (-7, 6)] | [Ans. (A) x=10]
54(-7) —4+6 -2 2\ !
( » 2 ) - (?’E)_(_l’l) : Distance = 10 +0°
1
The required line is passing through the points ! (10’9) = 100 =10
9 | (0,0) 10 units x = 10 units
=, 0 -1, 1 I
4 and I
xon 20N X 9 . 3. .The straight line given by the equation x = 11
~. The required equation is y=0 _ 4 : is [Sep. - 2020; PTA - 1; June & Qy. - 2023]
- _1— 9 ! (A) parallel to X axis
4 I (B) parallel to Y axis
N=n_xX=x |, (C) passing through the origin
R e (D) passing through the point (0,11)
' [Ans. (B) Parallel to y axis]
¢
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ular

? 7. The slope of the line which is perpendic
: to a line joining the points (0, 0) and (-8, 8) is
! 1 [May - 2022]
' @a-1 ®1 (© 3 (D) -8
x =11 is parallel to y axis. | 3 [Ans. (B)1]
: Slope of the line joining the points (0, 0) and
| :
(-8, 8)1is
4. If (5,7), (3, p) and (6,6) are collinear, then the : 8-0 8
value of p is [PTA - 5; May - 2022] ! m= e 0~ _8
(A) 3 (B) 6 © 9 ([]z) 12(C) 0] | Slope of the line L” to the given line is
ns. —
If(5,7), (3, p) and (6, 6) are collinear A=0 | m, = -1 —i =1
1 m —
1
1
® 1 . &
o : 8. Ifslope of the line PQiis G then slope of the
®
: perpendicular bisector of PQ is
1
! [PTA - 6; SRT & Aug. - 2022; June - 2023]
1
LW VEB WO = Do
- 115 3.4 >157 _ 0 , 3
2 7><p>16 ! [Ans. (B) —/3]
(5p+18+42)— (21 +6p+30) =0 ! 9. IfAis a'point on the Y axis vt'hose ordinat.e is
Sp+60—(6p+51) =0 . 8 and B is a point on the X axis whose abscissa
P P - : is 5 then the equation of the line AB is
Sp—6p = -60+5l, | (A) 8x+5y=40  (B) 8x— 5y =40
wp = , (0 x=8 (D) y=>5
p =19 - [Ans. (A) 8x + 5y = 40]
5. The point of intersection of 3x — y = 4 and' _ A _3 Y—0
x+y=8is [PTA - 2; Aug. - 2022] : (0,8) i)}_S = =0
(A) (53) B) 24) () G ) (4H N‘}» b8 x
[Ans. (C) (3, 5)] 2—° _zZ
3x-y =4 : -8 S
x+/ = 8 ! —8x =5y—40
T 4 = 12 ! ) 8x+5y—-40 =0
x =3 i 10. The equation of a line passing through the origin
3+y = 8 | and perpendicular to the line 7x -3y +4=0is
e = ! [PTA - 4]
.. Point of'intersection is (3, 5) . ! (A) Tx—3y+4=0 (B) 3x—Ty+4=0
6. The slope of the line joining (12, 3), 4, a) is —. ' (€) 3x+7y=0 (D) 7x-3y=0
. 8 ! [Ans. (C) 3x + 7y = 0]
The value of ‘a’ is [PTA - 3; SRT - 2022; FRT - 2024] : 77
A1 ®4 (©-5 (D2 ' [Hint:] Siope of 7x - 3y +4 = 0is =73
Ans. (D) 2] ! B
T a-3 [ () 2l ! Slope of the line thatis 1" to 7x -3y +4=01s
— mT 412 T | I
a-3 _ l 1 z 7
-8 8 : 3
8a—24 = -8 ! Passing through origin i.e. (0, 0)
8a = 8+24=16 | . L -3
a =2 \ Required equation is y — 0 = = (x-=0)
i 3x+7y =0
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Consider four straight lines

(i [ ;;3y=4x+5 (i) [ ;4y=3x-1
(iii) L ;4y+3x=7 (iv) [ ;4x+3y=2
Which of the following statement is true ?
(A) [, and [, are perpendicular

(B) [, and , are parallel

(C) [, and /, are perpendicular

(D) [,and [, are parallel

[Ans.(C) [, and [, are perpendicular]

[Hint:] / : 4x - 3y +5=0 m1=%
-3

[:3x—4y—-1=0 m,= —

~4

-3

[:3x+4y-7=0 m3=7

) B 4
[;4x+3y—-2=0 m4—?

12.

A straight line has equation 8y = 4x + 21.
Which of the following is true [PTA - 3]

(A) The slope is 0.5 and the y intercept is 2.6
(B) The slope is 5 and the y intercept is 1.6
(C) The slope is 0.5 and the y intercept is.1.6
(D) The slope is 5 and the y intercept is 2.6

[Ans.(A) The slopeis 0.5 and the y interceptis 2.6.]

13.

8y = 4x+21 = 4x—-8y+£21=0
_ A1
T8 2
=2.6

. .21
y Intercept 18 E

When proving that ‘@ quadrilateral is a
trapezium, itis necessary to show [PTA - 4]
(A) Two sides are parallel.

(B) Two parallel and two non-parallel sides.
(C) Opposite sides are parallel.

(D) All sides are of equal length.

[Ans.(B) Two parallel and two non-parallel sides]

14.

When proving that a quadrilateral is a
parallelogram by using slopes you must find

(A) The slopes of two sides
(B) The slopes of two pair of opposite sides
(C) The lengths of all sides
(D) Both the lengths and slopes of two sides

[Ans.(B) The slopes of two pair of opposite
sides]

enquiry@surabooks.com

15.

(2, 1) is the point of intersection of two lines.
[PTA - 3; Hy. - 2019; Qy.- 2023]
(A) x—y-3=0;3x—y-7=0
B) x+y =3;3x+y=7
(C) 3x+y=3;x+ty=7
D) x+3y—-3=0;x—y—-7=0
[Ans.(B) x+y=3;3x+y=17]

Unit Exercise - 5

1.

Sol.

L 4
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
|
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

PQRS is a rectangle formed by joining the
points P(-1, -1), Q(-1, 4) ,R(5, 4) and S(5,-1).
A, B, C and D are the mid-points of PQ, QR,
RS and SP respectively. Is the quadrilateral
ABCD a square, a rectangle or a rhombus?
Justify ‘your answer.

Given A, B, C, D are mid points of PQ, QR, RS
and SP respectively.

P

Q
(-1,-1) (-1,4)

\
k2
;

,

- -
Df:. 4B
~o .
.~ ‘o'

S T R
(55 _1) (5a4)

A is the mid point of PQ
. (—1—1 —1+4) B 3
= Ais ) —(—1,5)
B is the mid point of QR
= Bis = (_1+5,ﬂ
2 2
C is the mid point of SR

)=(2,4)
545 4+(-D)
27 2

) - (5, : )
2
D is the mid point of SP

. (5+(—1) —1—1j
= Dis = B =(2,-1)

2 3)
\/(2+1) +[45]
\/32+[§]2:\/32+

2

25 _\/@
N4

4

e (3
J(s (34

= Cis =

AB

25

2

9+

BC
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¢ = 4x = 14
2
_ /32+[§] R L 7
2 : 4 2
f 61 !
= 36+25 = ! Substituting x = 7 iny=x+3 we get
4 4 | 2
1 7 13
CD=\/(2 5)° [1——] LT g YT
AN o) (7 13 J
X,y = | T 7
= /( 3)? -|- 21 = Jo+ : 4 22
! 7 13
| Hence the co-ordinates of third vertex is ( XD )
— R 1
a V 4 . 3. Find the area of a triangle formed by the lines
2 1 3x+y—2=0,5x+2y=3=0and 2x—y—3=0
3 I . .
DA = \/Z—H) [ 1__] i1 ¥98 Given lines are
: 3x+y<2 =0 (1)
B | Sx+2y-3 =0 .. (2)
= -5 \/9+_ ! 2x —giis = - 3)
{ | Let A (x, y,) be the point of intersection of lines
Since AB=BC=CD=DA= 4 ABCD may : (1) and (2) A
be a square or rhombus.3 | ()% 2= 6x+2f =4
1
2 +2y=
4 S 8.3 5 5 ! 2Q)x3=5x+2y=3 . 5
Slope of AB = =2 =5 o | S,
2-(=D 3 3) : Subtracting x = 1
g : = . x=1 G 3 B
Z_4 3_5 _5 5 ! Putx=11in (1) we get,
- 2 - Y - el - -
S1 fBC = &— = ——== N 3(H)+y-2 =0=1+y=0
opeo s—2 35 20) 76 | (Dry=2 =0=1ry
5 5 1 y = -1
) X o
(Slope of AB) (Slope of BC) = [—][—] = —é;t 1 < Als (1, -1) _ _ ,
6L 6 36 ! Let B (x,, y,) be the point of intersection of (2)
.. The sides are not perpendicular. | and (3)
. ABCD is not a square, butit is a rhombus. Q)= 5x+2y-3 =0
1 —

2. The area of a triangle is 5 sq.units. Two of its ! G) X 2= w 9
vertices are (2,1) and (3, —2). The third vertex : Adding, k=9 =0 5=9=x= 9
is (x, y) wherey = x + 3 . Find the coordinates | = x =1
of the third vertex. [PTA-1] 1 Putting x = 1 in (3) we get

e Area of triangle formed by points (x, y), | 2(1)-y-3 =0

q 1 : = -3 =0
(x29y2)>an (x3:y3)_ 2{(x1y2+x2y3+x3y1)_ : - *1*)7 -0
(x2y1)+x3y2+x1 y3)} ! = y =-1
1 ! .
- Area = E{(—4+3x+9+x)—(3—%+2§+6)} I - Bis(1,-1)
1
N Area = 5 (given) ! Let C (x,, y,) be the point of intersection of lines
1 1 (1) and (3).
= 5= S{4x+51-9) : ()=  3x+y-2 =0
3 5 | (3)x2= 2x—y-3 =0
= 4x-4 =10 ! i T 5x_5 =0
oy 13~ | Adding, 5x-5 =0
enquiry@surabooks.com Ph: 8124201000/ 8124301000
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= Sx =5 T Slope of AB = Slope of CD
= x =1 I Slope of BC = Slope of DA
Putting x = 1 in (3) we get, : and the diagonals bisect each other
2(1)-y—-3 =0 | Hence ABCD forms a parallelogram.
= 2-y-3=0 | Find the equations of the lines, whose sum and
= 1=y =0 | product of intercepts are 1 and —6 respectively.
=-1
. Cis (1, -1 7 : Let the intercepts of a line are a, b respectively.
A , — 1 . _
Since all the three A, B, C are (1, —1), they do | Givena+b = 1 (1)
not form the vertices of the triangle. I ab =.=6 -+(2)
—  Area of AABC =0 : By assuming a and b as roots of the equation,
If vertices of a quadrilateral are at A(-5,7) , | We ge_t x* —x (Sum of the roots) # Product of the
B(—4, k) , C(-1,-6) and D(4, 5) and its area is ! roots = 0 i
72 sq.units. Find the value of . I = X =x (D) —=63="0 .
Area (quadrilateral ABCD) | [Using (1) and (2)]
1-5 -4 -1 4 =5 | = Xex=6 =0
= 7k 26 5 7 ! By factorizing we get,
1 I = x-3)x+2) =0
= 5[(—5k+24—5+28)—(—28—k—24—25)]=72 ! N ¥y = 3orx=-2
= (47-5k)—(-77—k) =144 : Hence the intercepts are 3 or —2.
= 47 -5k+77+k =144 L Sy () : . o
N 124 — 4k =144 , When a =3, b =— 2, the equation of the line is
= —4k =20 : Iy % = 1 (Intercept form)
— a
r S y
1 r X =
Without using distance formula, show that ! 3 =2 { E )
the points (-2, 1) , (4, 0) , (3,3) and (-3,2) are , N A A B
vertices of a parallelogram. ! 3 2
A B 1 = M =1
(-2,-1) 4, 0) ! 6 .
| [Taking 6 as LCM]
1 = 2x-3y = 6
| = 2x-3y—-6 = 0
1 Case (ii) :
133 5 (3C3) : When a =-2, b = 3, the equation of the line is
- ’ 2+3 143 _(1 | Z+Z o=
Mid‘point of AC = (‘ o )=(—,1] - a b
22 2/ x Ly
- 344 0+2) (1 v —t3 =1
Mid point of BD = | = =,1 !
2 2 )\ o EINP
Slope of AB = 0-D _ | 23
B T 6 —3x+2
4-(-2) 6 ; - XAy
3-0 ! 6
Slope of BC = 34 =3 | = 3x+2y = 6
’_3 +1 ! = 3x+2y—-6 =0
- 1
Slope of CD = ﬁzz 1 = 3x-2y+6 = 0
1, : [Multiplying by (—1) through out]
1
Slope of DA = (3 -3 1
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Hence the owner of a milk store can sell 1340 /
per week at %17/ litre.

Find the image of the point (3, 8) with respect
to the line x + 3y = 7 assuming the line to be a
plane mirror.

Let (a, b) the required image.

Let m, be the slope of the given line x + 3y =7
and m, be the slope of the line joining (3,8) and

(a,b)

Xy
Slope of line joining (32 82) and

Xy
(@ b) "

intersection.
(Hh= 4x+7y-3 =0
= O

2Q)x2=4x-6y+2=0

Subtracting, 13y—5 =0

5
= 13y =5 =>y=—
24 y 3
Substituting y = I in (2) we get,
D R [ Uy SR S U
13 13
e — 1_5 1513 3
= TR T B
2 1
= X = — = —
13(2) 13

. The point of intersection of (1) and (2) (x, y,)

.[1 5]
1S |{—,—
13’13

www.surabooks.com
E.ﬁ Sura’s » X Std - Mathematics ™ Chapter 5 »» Coordinate Geometry
7. The owner of a milk store finds that, he can ¢ 8—bh -1
sell 980 litres of milk each week at Z14/litre : m, = 3, =>m = ?
and 1220 litres of milk each week at I16/litre. | moxm = —1
Assuming a linear relationship between selling ! 1 ?
price and demand, how many litres could he | “1.8=b |
sell weekly at T 17/litre? : 3 3-a
S Letx, x, represent the quantity of milk and y, y, ! 8—b = B-a)x3
represent the cost of milk per litre. 1 8—b = 9-3a
Given datas are : 3a-b = 1=b=3a-1 ()
980 | x) F14 o) : Mled3po_1n7t of line joining (3, 8)-and (a, b) lies on
1220 [ 7 1 X y=1 . . a+3 b+8
(xz) 16 ()/2) 1 mid point = B
The linear relationship between selling price and : a+3 b+8
demand is ! R 5 +3 > N -(2)
— X—x . :
Yy _ ﬁ | o So31v1n3g (1) and'(2)
Yo =N 27N . ! a+ 2 Gam1+8) = 7
[Two point form] 2 asb = 3a-—1from (1).
1
_ y—l4 _ _x—980 - a3 89,421 = 14
16—14 1220 —-980 : 10a = -10
- y—14 _ x—980 ! a = -1
7 240 I b = 3-1)-1=-4
1 120 : (a,0) = (-1,-4)
= 120y~ 14) = x —980 . 9. Find the equation of a line passing through
= 120(y-14)+980 = x ! the point of intersection of the lines
= x = 120(y—14)+980 | 4x + 7y —3 =0 and 2x — 3y + 1 = 0 that has
When y = R17/, : equal intercepts on the axes.
. x = 120 (17-414) +980" | FJ1 Given lines are 4x+7y-3 =0 .. (1)
= x = 120.(3) + 980 | and2x—3y+1 =0 .. (2)
= x =360+ 980 : Let us solve (1) and (2) to find the point of
= x = 1340 I
I
1
1
1
1
1
I
1
1
I
1
1
1
1
1
I
1
1
I
1
1
1
1
1
1
¢
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Change in surface area = 47(1.5625)r% — 4mr?

[(2)-(D)]
A2 (15625 — 1)
[Taking 4n7? as common]
42 (0.5625)

.. Percentage increase in surface area

_ Change in surface area x 100

old area

_ 47 (.5625) %100
pral

Hence, the percentage increase in surface area
=56.25%

=0.5625x100 = 56.25%

The internal and external diameters of a
hollow hemispherical vessel are 20 cm and
28 cm respectively. Find the cost to paint the
vessel all over at T 0.14 per cm?.
External diameter D = 28 cm

Internal diameter d = 20 cm

R=2 14em, =2~ 10
. > cm, 7 5 cm.

T.S.A of the hemispherical vessel = m(3R?+ 7?%)

22
= 5 G 142 + 10%)
22

— (3% 196 £100)
2

——R-

2
= = X688
7

15136
Oy 2162.28 cm?

Cost of painting for I.cm? =% 0.14
Cost of painting for 2162.28 cm?
= 2162.28 x 0.14=X 302.72

The frustum shaped outer

portion of the table lamp has 7
to be painted including the top 8cm //
part. Find the total cost of ‘
painting the lamp if the cost

of painting 1 sq.cm is < 2.
§e1 Here given that R = 12 cm
r = 6cm
h = 8cm
I = W +R-r)
= 8 +(12-6)

enquiry@surabooks.com

L 4
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[}
I
[}
[}
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

—]

V82 +6% = J64+36
100 =10 cm

/

.. CSA of the frustum
= R +r)

2 (12+6)10= @xm
7 7
3960

- =565.7Lcm® .. (1)
Area of the top part = 2
- 2 <6x6
7
792
= = = 113.14 cm? .. (2)
.. The total area to be painted
= 565.71+113.14 [(1)+(2)]

678.85 cm?

.. The costof painting for 1 cm?>= ¥ 2

... Cost of painting for 678.85 cm? =2 x 678.85
= T 1357.72

Hence, the cost of painting the lamp is =% 1357.72

EXERCISE 7.2

A 14 m deep well with inner diameter 10 m is
dug and the earth taken out is evenly spread
all around the well to form an embankment of
width 5 m. Find the height of the embankment.

=3

Given inner diameter = 10 m

) 10
= Innerradius = 5= 5m :
and height (#) = 14 m
ght (™ =
Volume of the cylinder = Volume of the earth
taken out

2
wh = %xSxSfo

= 1100 m?

The earth spread all around the well
= Volume of hollow

cylinder
= n(RZ2-7?)
Outer radius (R) = inner radius + width

= 5+5=10m

Sm

and A ? [not given]
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3. Ifthe circumference of a conical wooden piece

The earth spread all around the well ’
22 . : is 484 cm then find its volume when its height
= — (10°-5%) .
7 : is 105 cm. [Aug. - 2022]
22 1 §J1 Circumference of the base of the cone = 484 cm
= — (100-25) h I . _
7 I Height = 105cm
I 22
_ %wsw % nomr = 484 = 2xxr =484
11
It is also given that the earth taken out = The : fi
earth spread all around the well. : _oasAx L T < »
Equating (1) and (2) we get, L g 7 N
22 1 J/f
1100 = ==x75xh - ro=77em
2 X 1
w4 T 1 = —m? i¢ unit
11007 . :>h_14 ! .. Its volume 3qrrhcublcunls
— - - 1
X 3
27 735 E = Z / >< ]/fx 77 x }0”5
= h = 4.666 m I 3
. B | = 652190 cm”.
Hence, height of the embankment = 4.67 m X : 3
i .. The required volume of the cone = 652190 cm”.
2. Acyhn(.lrlcal glass with diameter 2.0 cm has water . 4. A conical container is fully filled with petrol.
to a height of 9 cm. A small cylindrical metal - . .

f radius 5 d heicht 4 . . di : The radius is 10 m and the height is 15 m. If
of radius 5 cm and height ?m IS Immerse ,lt | the container can release the petrol through its
completely. Calculate the raise of the water in , bottom at the rate of 25 cu. meter per minute, in
the glass? [Sep. - 2020] | how many minutes the container will be emptied.

@  For the cylindrical For the water ! Round off your answer to the nearest minute.
metal raised which isin 1 A
cylindrical form |
r =5 diameter =20 em |
h =4 ry= 10 cm | m‘
h2 =% 1
1
By Archimedes’s principle, 1 Givenr= 10 m
Volume of the water raised | B
= Volume of the, cylindrical metal ! h=15m !
N i r22h2 - A rlzhl ! Volume of the cone = gﬁrzh Cu. units.
| Volume of the given conical
1
1
: Container=§><7r><10><10><15 = 5007 m?
1
| To empty 25 m?, the time taken = 1 minutes
1
: 500x 22 x1
! To empty 500 m? the time taken = 257
= (10y°h, = (5)* x4 !
- 5015 22
= 100%, (25)4 : . = 62.857 minutes
L 2@ _100 TS
= 2 100 100 I ~ 63 minutes.(approx.)
1
Hence, height of the raised water in the glass ! Hence, the conical container will be emptied in
=1cm é 63 minutes.
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8 cm and 10 cm is revolved about the sides
containing the right angle in two ways. Find
the difference in volumes of the two solids so
formed.

When the triangle ABC is rotated about AB, the

volume of the cone formed = lTcrzh

Herer = 6 cm

h = 8cm

1 22 - IEANA
23

V, = —X—X6X6X8 -
3 7

1

2112
— =301.71cm?

When the A ABC, rotated about BC,
r=8cm,h=6cm

1 22 2816

V. = §><7><6><8><8 = —— =402.29 cm?

2

.. Difference in volume = V2 - V1
=402.29 - 301.71

=100.58 cm?

The volumes of two cones of same base radius
are 3600 cm? and 5040 cm?. Find the ratio of
heights. [PTA -4; May - 2022]
Let r, r, be the radius of two cones and V,, V,
be their volume.
Given V,

v

= 3600 cm?>, =T

Y N = 5040 cm>

/;/’W’l 3600 rfhl 3600

Consider = [.r=r]

7.

%/i{zhz 5040~ r2h, 504012

M 90 45 155
h 126 63 21 7
Sohythy =517
.. Ratio of their heights =5 : 7
If the ratio of radii of two spheresis 4 : 7, find
the ratio of their volumes. [April -2023]

S Let |, r, be the radii of the two given spheres

n 4
Given—=— (1)
ry 7

enquiry@surabooks.com

L 4
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
[}
I
[}
[}
1
1
1
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
I
I
1
1
I
¢

4/ 3
T XN
1 3
_i

4 3 7"23

Ratio of their volumes
4x4x4 64

3
5 Vi (n {if - S
vV, n 7 TxTxT6 343

Hence, ratio of their volumes = 64.: 343

A solid sphere and a solid hemisphere have
equal total surface area. Prove that the ratio
of their volume is 3 \/5 4 [PTA - 6]
Let r,, r, be the radii of the sphere and a solid
hemisphere

Given TSA of sphere = TSA of solid hemisphere

= dfr” = 3417 = =31
2
7 3
— 1_2 = = :>r_1:£ (D)
7 4 o2
[Taking square root]
Volume of sphere
Ratio of their volumes = P

Volume of hemisphere

4 3
S e SRR
z/7{><r3’ 2}”23 "2 2
5 2
(using (1))
233333

Zx2x2 !

Hence, ratio of their volumes = 3\/5 14

The outer and the inner surface areas of
a spherical copper shell are 5761 cm? and
3241 em? respectively. Find the volume of the
material required to make the shell.

Given 4nR? = 576m cm?
Given 42 = 324w cm?

4R = 5764 :>R2=¥=144
= R? = 144cm?
= R 12 cm
Also 4477 = 3244
= P = 324 =8l
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}"2 = 81 Cm2:>l":90m T Radius = 7 cm
.". Volume of the hollow sphere I Total height = 13 cm
4 : radius of sphere = 7 cm
= —n(R?-#%) cu. units ! Height of the cylindrical part = 13 -7
3 1 = 6cm
1
— gx%x(lf -9%) =§x%x(1728—729) ! .. Capacity of the vessel = Capacity of the
: cylinder + Capacity of the hemisphere.
4 22 29304 I
= —X"-X999= "—— =4186.285= 418629 cm® A7
37 7 - : SEFTIEEEE
.. The volume of the material needed = 4186.29 cm?. :
1 £
10. A container open at the top is in the form of a ! =
frustum of a cone of height 16 cm with radii .
of its lower and upper ends are 8 cm and 20 | —
cm respectively. Find the cost of milk which ! Volume of the cylinder =24
can completely fill a container at the rate of , 2
240 per litre. [May -2022] ! = 7>< T XTx6
Sol. Givenh = 16cm I
R = 20cm | = 22x42=924 .. (D)
r = 8cm I Volume of the hemisphere
1
Volume of the frustum ! :§RF3 _ %xz—;x7x7><7
— 1 2 2 . . 1
=>V= gn(R + Rr+r“)h cubic units :  44x49 _ 2156
! 3 3
1 22 2 2 !
1 22 : .. The total volume = 924 + 718.67 [(1) + (2)]
- §X7(4OO +160+64)x16 | The capacity of the vessel = 1642.67 cm®.
1 22 . 2. Nathan, an engineering student was asked to
= 3% 7% 624x16 ! make a model shaped like a cylinder with two
I cones attached at its two ends. The diameter
= 73216 = 10459.428 cm3 | of the model is 3 cm and its length is 12 cm.
7 . ! If each cone has a height of 2 cm, find the
1000 em* =1 litre ) volume of the model that Nathan made.
. 10459 428 O 10459.428 104591 : [May - 2022]
o %\ 1000 ’ "~ | & Volume of the model = Volume of the cylinder +
Cost'of I/milk = Y40 ! Volume of 2 cones.
L} .
. Costof 10.459 / of milk =40 x 10.459=% 418.36. For cylinder
| h = 12-2-2=8cm
‘ A} EXERCISE 7.3 ! diameter = 3 cm
- i | 3 2
- . . I = ro= ycm
1. Avesselis in the form of a hemispherical bowl , For cone 2 I -
mounted by a hollow cylinder. The diameter | b = 8 em N
is 14 cm and the height of the vessel is 13 cm. 1 = 2cm I
Find the capacity of the vessel. E ;o= % cm >
§a2 For cylinder 1
) ) ! Volume of the cylinder part = 2
.. Given Diameter = 14 cm 1
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Given/ = 4m ? o) 1408
C.S. Aof frustum = wl(R+7r) : = —xp2 = —
- | 7 7
i 22 I 128
= 7><4(2.86+2.54) I , 1408 7 B
! = ro= X—=064
. ! 728
= —X4x54 ! 5 2
7 : = r = 64=r=8cm
= 67.88m*~ 68m? ! Equating (1) and (2) we get,
Given that cost of painting for 1 sq. m=%100 ! 7040 L3 _ 1408
.~.Cost of painting for 68 m? = 68 x 100 I 7 " n 7
= %6800 : 3
8. A hemi-spherical hollow bowl has material of : = 7040 h y S
! 5
volume T cubic cm. Its external diameter : ;940/ x3
| = ———ED /i =5%x3=h
is 14 cm. Find its thickness. | 408 7 B
H9 Volume of hollow hemisphere ! = p 1o om
_ 2 R ) - Slant height I = R +7?
= — - 1
3 ! = 152 +82 =225+ 64
14 1
GivenD = 14cm,R=—=7cm 1 = J289=+17°
2 1
. = [ = 17cm
R 3>< 2 ><(73 —r3) _ 436 % : Hence, slant height = 17 cm
2 /7 y.d i 10. A metallic sheet in the form of a sector of a
: circle of radius 21 cm has central angle of 216°.
{ — 2} : The sector is made into a cone by bringing the
' 7 1 bounding radii together. Find the volume of
(3437 — 436 | the cone formed. [PTA - 2]
2 : 8 Given radius of sector=/=21 cm
—? = 218343 ! _
13 = 4125 : 3 >
r = Scm 1 &
Thickness of the bowl =R “F=7-5=2cm '
1
; 5 ! 6 = 216
9. The volume of a cone is 1005 - cu. cm. The ! Let » be the radius of the cone
area of its base is 201 = sq. cm. Find the slant |, When the sector is made into a cone, we get base
height of the cone 7 [Hy. - 2023] ! perimeter of the cone = length of arc.
. 5 ’ : = 2Mr = 9 x 2t (radius of sector)
§9A . Given that volume of the cone = 1005 — cu.cm 360
1 2 7040 | dius of
B> - = — = — x
3T 7 ! = r 360 radius o sector .
7040 3 I " 1 [2,82.24
= = X — W (D 4 1
7 h 1 10%
o 10 6 T 18x7 26| 182
Also, it is given that area of the base =201 — cm~* 1 — x 21 = 156
= r
1408 | 360 10 8| 2624
= e = T (2 50 2624
1 }6 _0
l 10 _
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= 12.6 cm
Height of cone (k) =/j2 — 2
h= 12126

= +441-158.76=+/282.24

16.8 cm

=

= h
h

1 5
.. Volume of the cone = EW h

= %x%xl2.6x12.6><16.8

Hence, volume of the cone = 2794.18 cm?

PTA EXAM QUESTION & ANSWERS

v

If the volume of sphere is 361 ¢cm?, then its
radius is equal to [PTA - 3]
(A)3cm (B) 2em (C) Secm (D) 10 cm

[Ans. (A) 3 cm]
36 cm?

4
5/7{’”3 =/§67t
9

36x

. A
ro= 27
r =13
C.S.A of solid sphere is equal to
(A) T.S.A of solid sphere
(B) T.S.A of hemisphere
(C) C.S.A of hemisphere
(D) none of these

[Ans. (A) T.S.A of solid sphere]

The volume of a solid right circular cone is
11088 em?. If its height is 24 cm then find the
radius of the cone. [PTA - 1; Hy. - 2019; June - 2023]
Let 7 and /4 be the radius and height of the cone
respectively.

Given that, volume of the cone = 11088 cm?

[PTA - 5]

1
gﬂtrzh = 11088

1X2X72X24 = 11088

=441
Therefore, radius of the cone » =21 cm

enquiry@surabooks.com
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Find the number of spherical lead shots,
each of diameter 6¢cm that can be made from
a solid cuboids of lead having dimensions
24cm x 22c¢m X 12cm. [PTA - 2]
Volume of cuboid

Number of lead shots = Volume of a lead shot

| Ixbxh _ 24x22x12

inr?’ iXEX?)?’

3

8
220 F e

REEEEYE ST
A cone of height 24 cm is made up of modeling
clay. A child reshapes it in the form of a cylinder
of same radius as cone. Find the height of the
cylinder. [PTA - 3]
Let 4, and h, be the heights of a cone and
cylinder respectively.

Also, let 7 be the radius of the cone.

Given that, height of the cone 4| = 24 cm; radius
of'the cone and cylinder » = 6 cm

Since, Volume of cylinder = Volume of cone

1
mwrh, = Smh,
3
1 .
= h2 = EX h1 gives
1
h2 = EX 24+ 8

Therefore, height of cylinder is 8 cm

If the radii of the circular ends of a frustum
which is 45 cm high are 28 cm and 7 cm, find
the volume of the frustum.

[PTA - 5; Sep. - 2021; Hy. - 2023]

Let A, r and R be the height, top and bottom radii
of the frustum.

Given that, 7=45cm, R=28 cm, =7 cm

Volume = % x [R? + Rr + *]h cu. units

Tcm

:%xz—fx[282+(28x7)+72]x45

= %X%X1029 x 45 =48510

Therefore, volume of the frustum is 48510 cm?
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Area of the canvas =

A funnel consists of a frustum of a cone attached
to a cylindrical portion 12 cm long attached
at the bottom. If the total height be 20 cm,
diameter of the cylindrical portion be 12 cm
and the diameter of the top of the funnel be 24
cm. Find the outer surface area of the funnel.

[PTA - 1]

Hd Let R, r be the top and bottom radii of the

frustum.
Let A, h, be the heights of the frustum and
cylinder respectively.
Given that, R =12 cm, r=6 cm , h, = 12 cm
Now 4, =20-12=8 cm

Lzem Here, Slant height of the
frustum

[=+(R- P+ hlz units
— 36164

/=10 cm

4

—12cm ———8cm —i
20 cm

Outer surface area = 2mrh, + (R +r)l sq. units

= 7[2rh, + (R +7)]

= w2 x6x12)+ (18x 10)]
= m[144 + 180]

= % %324 =1018.28

Therefore, outer surface area of the funnel is
1018.28 cm?

The radius of a conical tent is 7 m and the height
is 24 m. Calculate the length of the canvas used
to make the tent if the width of the rectangular
canvas is 4 m? [PTA - 3; April -2023]
Let r and 4 be the radius and height of the cone
respectively.

Given that, radius » = 7 m and height 7 =24 m

Hence, ! = r? +h* =/49+576
[ = 4625=25m
C.S.A. of the conical tent = 77/ sq. units

%X7><25=550m2

Now, length of the canvas
Area of the canvas

width

enquiry@surabooks.com
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= T: 137.5m

Therefore, the length of the canvas is137.5 m

A cylindrical bucket of 32 cm high and with
radius of base 18 cm, is filled with sand
completely. This bucket is emptied on the
ground and a conical heap of sand is formed.
If the height of the conical heap is 24 cm, find
the radius and slant height of the heap.
[PTA - 4; Govt. MQP - 2019]
Volume of Cylinder = nr?h = rt (18%) 32
1

9 nrlzh = %nr12(24)

1
5 757”12(24)

Ix182x 37 _

Volume of Cone =

m(18%) 320 =

2= 7 182%4
P2 o= 182x22= 362
ro= 36

Slant height (1) = [n2 + 42 = \36? + 242

= J1296+576 = 1872
JI2x12x13 = 1213

A right circular cylindrical container of base
radius 6 cm and height 15 cm is full of ice
cream. The ice cream is to be filled in cones
of height 9 cm and base radius 3 ¢cm, having a
hemispherical cap. Find the number of cones
needed to empty the container. [PTA-5 & 6]

§l Let & and » be the height and radius of the

cylinder respectively.

Given that, =15 cm, =6 cm

Volume of the container V = 172 h cubic units.
- 2—72 X6x6x15

Let, r, =3 cm, 7, = 9 cm be the radius and
height of the cone.

Also, r, =3 cmis the radius of the hemispherical
cap.

Volume of one ice cream cone = (Volume of the

cone + Volume of the hemispherical cap)

= —nih + =
3 3

2 22
= 1X2x3x3x9+§x7x3x3x3

3
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22 22
= x93 +2)=""x45
7 7

volume of the cylinder

Number of cones = -
volume of one ice cream cone

Number of ice cream cones needed

gx6x6><15

=%y =12
22 x 45
7
Thus 12 ice cream cones are required to empty
the cylindrical container.

A well of diameter 3m is dug 14m deep. The
earth taken out of it has been spread evenly
all around it in the shape of a circular ring of
width 4m to form an embankment. Find the

height of the embankment. [PTA - 5]

2
Volume of sand = 2 h = n(%j 14

—
—
9]
W

Volume of sand = Volume of ring
3\ 3V (3)
5w - AT

2 2

2
(21.9),
4 4

112 ~9x14

9
X><14 = /(4=>h—w

8

o0
NS :
o|S S|on S|oo |0 o

9
Z x 14
4

=1.125m

If the slant height of the frustum cone is 10cm
and perimeters of its circular base are 18cm and
28cm respectively. Whatis the curved surface
area of the frustum? [PTA - 6]
[=10cm,2nR =28 cm, 2= 18 cm, TR =14 c¢m,
=9 cm,
CSA of frustum = (nR + 7r)/
= (14+9) 10 =230 cm?

| GOV EXAM QUESTION & ANSWERS

Multiple choice questions.

1.

A child reshapes a cone made up of clay of
height 24 cm and radius 6 cm into a sphere,
then the radius of sphere is : [Sep. - 2020]

(A) 24 cm (B) 12 cm
(C) 6cm (D) 48 cm
[Ans. (C) 6 cm]
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h = 24cm
r = 6cm
Let R be the radius of the sphere
Given, Volume of the Sphere = Volume of the cone.
4 53 L /o
= Z AR = —Ar'h
Z 2z
= 4R3 = (6)2(24)
6
6x6x
= R3 y —24
A
= R} .= 6X6%x6=R=6
= R = 6¢cm
2. The height of a right circular cone whose radius
is 3 cm-and slant height is 5 cm will be[Hy. - 2019]
(A) /12 cm (B) 4cm
(C) 13 cm (D) Scm [Ans. (B) 4 cm]
[Hint: | height = /12 =72 =+/25-9
= JI6=4cm
3. If the radius of the cylinder is doubled, the
new volume of the cylinder will be
times the original volume. [May - 2022]
(A) same (B) 3 (C) 4 (D) 2
[Ans. (C) 4]
Original Volume = m2h
g
New Volume = wQ2r)> h=47rrh
= 4 times the Original Volume
2 MARKS
1. Find the diameter of a sphere whose surface
area is 154 m2. [Sep.- 2020]
a9 Let » be the radius of the sphere.
Given that, surface area of sphere = 154 m?
= 154
22
4 x - xrr = 154
1 7
PP o= 154 x—x—
- 422
49
2= =
4
Wewetr - 1
egetr = 5
Therefore, diameter is 7 m
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2.

If the base area of a hemispherical solid is ¢ 5.

1386 sq. metres, then find its total surface area.
[Sep.- 2020; FRT - 2024]

HoA Let r be the radius of the hemisphere.

Given that, base area = 172 = 1386 sq. m
T.S.A. = 32 sq.m =3 x 1386 = 4158

Therefore, T.S.A. of the hemispherical solid is
4158 m?.

Find the volume of the iron used to make a
hollow cylinder of height 9 cm and whose
internal and external radii are 3 cm and 5 cm

respectively. [Sep.- 2020]
Let 7, R and / be the internal radius, external radius
and height of the hollow cylinder respectively.
Given that, 7 =3cm,R=5cm, A=9 cm

Now, volume of hollow cylinder

=1(R?— r?)h cu. units

22
= (52-3) %9
— (-3
_2(25 9)

7
-2 6%9
7

22
- x 144 =452.16 cm?

Therefore, volume of iron used = 452.16 cm?

The radius of a spherical balloon increases from
12 cm to 16 c¢m as air being pumped into it. Find
the ratio of the surface area of the balloons in the

two cases. [Hy. - 2019 & 2023; May - 2022]
7 12 3
Given that, w- ==
7 16 4
Now; ratio of C.S.A. of balloons
4rt },12 B r12
4Tcr22 r22

- (- -

Therefore, ratio of C.S.A. of balloons is 9:16.

enquiry@surabooks.com
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8.

Mol Refer Text Book Example 7.6

An aluminium sphere of radius 15 cm is melted \

to make a cylinder of radius 10 cm. Find the
height of the cylinder. [Hy. - 2019]

Volume of sphere = Volume of cylinder

77
MIx 10 h

Find the volume of a cylinder whose height is 2 m
and base area is 250 m?. [Sep. - 2021]
Let » and 4 be the radius, and height of the
cylinder respectively.

Given that,height 2= 2 m, base area = 250 m?
72k cu. units

= base area x &
250 x 2 =500 m?
Theérefore, volume of the cylinder = 500 m?

Now, volume of a cylinder =

The heights of two right circular cones are in the
ratio 1 : 2 and the perimeters of their bases are
in the ratio 3 : 4. Find the ratio of their volumes.
[Sep. - 2021; May - 2022]
Let the height and radius of the cone 1 be /4, and
r, respectively.
Let the height and radius of the cone 2 be 4, and
r, respectively.

Given : L :l=>h1=lh2
hy 2 2
Similarly L = 35, =3,
12 4 )

Ratio of volume of two cones= =

3V, 1
_(Z) rz'Ehz_ 3V (1) 9
2 (Z) (5)_ 32
.. Required ratio = 9:32
If the total surface area of a cone of radius
7 em is 704 cm?, then, find its slant height.
[Aug. - 2022]
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The curved surface area of a right circular
cylinder of height 14 cm is 88 cm?. Find the
diameter of the cylinder. [June - 2023]
Refer Text Book Example 7.2

Calculate the weight of a hollow brass sphere
if the inner diameter is 14cm and thickness is
1mm, and whose density is 17.3 g/cm’.

[Govt. MQP - 2019]
Let » and R be the inner and outer radii of the
hollow sphere.

Given that, inner diameter d = 14 cm;

1

radius 7 = 7 cm; thickness = 1 mm = E cm

E =7.1 cm

inner

OuterradiusR = 7+ E:

Volume of hollow sphere = % n(R3—7*) cu.cm
=§ x % (357.91 — 343) = 62.48 cm?

But, weight of brass in 1 cm?® = 17.3 gm
Total weight = 17.3%62.48 = 1080.90 gm
.. Total weight is 1080.90 grams.

A doll is made by surmounting a cone on a
hemisphere of equal radius.

The radius of the hemisphere is 7 ¢cm and slant
height of the cone is 11 cm. Find the surface
[Hy. - 2019]

area of the doll.
Surface Area = 21 + qrl
2
7

= 22 [25] = 550 cm?

A toy is in the shape of a cylinder surmounted
by a hemisphere. The height of the toy is 25 cm.
Find the total surface area of the toy if its common
diameter is 12 cm. [Sep. - 2021]

—r [2r+ 1= ZSx T [2x T+ 11]

A Let » and & be the radius and height of the

cylinder respectively.

6em

D

Given that, diameter
d = 12 cm, radius » = 6 cm

Total height of the toy is 25 cm

19¢m

Therefore, height of the cylindrical
portion

h=25-6=19cm
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SOl
6

Sol.

T.S.A. of the toy = C.S.A. of the cylinder +
C.S.A. of the hemisphere +
Base Area of the cylinder

=2nrh + 212 + 1 = 7 (2h + 3r) sq. units
22 22
=T X6x(38+18) = T-x6x56=1056

Therefore, T.S.A. of the toy is 1056 cm?

A cylindrical drum has a height of 20.¢cm and
base radius of 14 cm. Find its curved surface
area and the total surface area. [Aug. - 2022]
Refer Text Book Example 7.1

Arul has to make arrangements for the
accommodation of 150 persons for his family
function. For this purpose, he plans to build
a tent which is in, the shape of cylinder
surmounted by a cone. Each person requires
4 sq.m. of the space on ground and 40 cu.
meter of air to breathe. Find the height of
the conical part of the tent if the height of
cylindrical part is 8 m. [April -2023]

Refer Text Book Example 7.26

A metallic sphere of radius 16 cm is melted and
recast into small spheres each of radius 2 cm. How
many small spheres can be obtained? [June - 2023]

Refer Text Book Example 7.29

| ADDITIONAL QUESTION & ANSWERS

1.

Sol.

Find the depth of a cylindrical tank of radius
28 m, if its capacity is equal to that of a
rectangular tank of size 28 m x 16 m x 11 m.
Volume of the cylindrical tank =

Volume of the rectangle tank 72 =28 x 16 x 11 m?
22 ot 2 xn = 28 x16x11

7 16x11

-8

What is the ratio of the volume of a cylinder,
a cone, and a sphere. If each has the same
diameter and same height?

2m

Volume of a cylinder = nr?h

1
g wh

Volume of a cone

4
Volume of a sphere = 3 s

Their ratio V1 : V2 : V3

z/h:%x/h:%x/
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h 4. A spherical ball of iron has been melted and

*
4r
h: 373 : made into small balls. If the radius of each
1 smaller ball is one-fourth of the radius of the
=3h:h:4r : original one, how many such balls can be made?
— 3h:h:2(2r) (where 27 = h) 1 4.3
SV iV, Ve=301102 : H2 No. of balls required = ﬁ
I r
3. Find the number of coins, 1.5 ¢cm is diameter : ETE X(Zj
and 0.2 cm thick, to be melted to form a right , — 3 xﬁxixi — 64
circular cylinder of height 10 cm and diameter | ror.r
4.5 cm. 1 5. A wooden article was made by scooping out a
) _ Volume of the cylinder | hemisphere from each end of a cylinder as
Sl No. of coins required = Volume of 1 coin I shown in figure. If the height of the cylinder is
wh | 10cm and its base is of radius 3.5 cm find the
= l—hl 1 total surface area of the article.
i !
272 ! Radius of the cylinder be.r T
BB 0 : Height of the eylinderbe /
20 20
= 1 5 1 5 5 | Total surface area of the article
P 1
20 20 10 ! = CSA of cylinder + CSA of 2
10 10 ! hemispheres
_xasxa0 20" 20" 00 y .
- =2mrh + 2nr- =2nr (h + 2r)
20x20 K 52 :
I 22
i F 2><7><3.5><(10+2><3.5)
:
[ =22 x 17=374 cm?
IO
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Time : 45 Minutes

Unit Test

Marks : 25

SECTION - A b5x1=5) T 4. A hemi-spherical tank of radius 1.75 m is full of
If two solid hemispheres of same base radius 7 | water. Itis connected V_Vlth a pipe which criijghes
units are joined together along their bases, then ! the tank. at.the rate of 7 litre per second. HoyvSoy
curved surface area of this new solid is | time will it take to empty the tank completely?
(A) 4mr sq. units  (B) 61 sq. units . 5. Find the number of coins, 1.5 cmis diameter and
(C) 3m?sq. units (D) 8 sq. units ! 0.2 cm thick, to be melted to form a right etrcular
The total surface area of a cylinder whose radius | cylinder of height 10 cm and diameter 4.5 cm.
is 1 of its height is : SECTION - C
3 ! (2x5=10)
9Tch2 . . . . .
(A) squnits (B) 247mh? squnits ! 1. A r¥ght 01rc.ular cylinder just enclose a sphere of
. radius r units.
gn}ﬂ . 561‘Ch2 . | Calculate
(©) sq.units (D) $q.units ! (i) the surface area of the sphere
The total surface area of a heml -sphere is how | (i) #the curved surface area of the cylinder
much times the square of its radius. | (ii1) the ratio of the areas obtained in (i) and (i1).
(A) (B) 4t (C) 3m (D) 2m . 2.4 Ametallic sheet in the form of a sector of a circle
A shuttle cock used for playing badminton has | of radius 21 c¢cm has central angle of 216°. The
the shape of the combination of : sector is made into a cone by bringing the bounding
(A) a cylinder and a sphere I radii together. Find the volume of the cone formed.
(B) a hemisphere and a cone :
(C) asphere and a cone L
(D) frustum of a cone and a hemisphere | Answers
The height and radius of the cone of which the : SECTION - A
frustum is a part are /2, units and 7, units respectively. | 1 .
. (A) 41? sq. unit
Height of the frusturn is h, unlts and radius of 1 (A) 4~ sq. units
the smaller base is 7, units. If hy:h =1:2 then : 8mh? .
2. (O sq.units
1"2 l" IS .
(A)1:3 B)1:2(C) 2:1 (D) 3:1 '3. (O)3r
SECTION - B 5x2=10) | 4. (D) frustum of a cone and a hemisphere
1
The external radius and the length of a hollow ! 5. B)1:2
wooden log are 16 cm and 13 cm respectively. If SECTION - B
its thickness is 4 cm then find its T.S.A. | , ] )
A conical container is fully filled with petrol. ; |- ReferSura’s Gu%de Exerc¥se 7.1,Q.No.3
The radius is 10 m and the height is 15 m. If the | 2. Refer Sura’s Guide Exercise 7.2, Q.No.4
container can release the petrol through its bottom 1 3. Refer Sura’s Guide Exercise 7.4, Q.No.1
1
atthe ratehof25 cu. meterﬁeg minute, zln }I;OW rganf); i 4. Refer Sura’s Guide Unit Exercise Q.No.2
1
minutes the container will be emptied. Round o 1 5. Refer Sura’s Guide Additional Q.No.4
your answer to the nearest minute. |
An aluminium sphere of radius 12 cm is melted ! SECTION - C
;O n;ikef?h cyhildzr of radius 8 cm. Find the . 1. Refer Sura’s Guide Exercise No.7.3, Q.No.7
SIgHt Of Hle cylinget. l 2. Refer Sura’s Guide Unit Exercise Q.No.10
IJOLS
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. .&g>0 STATISTICS AND

e PROBABILITY@

E a Range R =L -S.

i a Coefticient of range = E—;:, L - iig@e, S-smallest value standard deviation i
\S :

i (xz' -X )2
i=1
' O = n .
H n N v
E PNETE:
O Variance 0> = =

N : ;
1 O  Assumed anzetmczcx \/Zdi _(zdi)
: PR
[247]
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EXERCISE 8.1

Find the range and coefficient of range of the
following data.
(i) 63, 89, 98, 125,79, 108, 117, 68

[Sep.- 2020; April
(ii) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8
Range R=L-S.

- 2023]

L-S
L+S
L — Largest value, S — Smallest value.
(i) 63, 89,98,125,79,108, 117, 68.

Here L 125

S =63
~R=L-S 125-63 =62

L-S 125-63
L+S  125+63
62

= =0.33
188

(i) 43.5,13.6,18.9,38.4,61.4,29.8

L =614
S =13.6
R=L-S =614-13.6=47.8

L-S 478
= 22 20.64
L+S 475

If the range and the smallest value of a set of
data are 36.8 and 13.4 respectively, then find
the largest value. [Hy. - 2019]
Given range

the smallest value
the largest value

Co-efficient of range =

Co-efficient of range =

Co-efficient of range

36.8 and

13.4 (S)

L=R+S[.-Range=L-S]
= 36.8+13.4=50.2

Calculate the range of the following data.

[oagma | 400- | 450- [ 500- [ 550- [ 600-
OMET 450 | 500 | 550 | 600 | 650
=
0 8
;/orkers

Here the largest value
The smallest value
-. Range=L-S

12 30 21 6

= 650
400
650 — 400 =250

A teacher asked the students to complete 60
pages of a record note book. Eight students
have completed only 32, 35, 37, 30, 33, 36, 35
and 37 pages. Find the standard deviation of
the pages completed by them.

T T T T T T A O T T T ST SR )

enquiry@surabooks.com

B x &8 == =343
n
X, x’
32 1020
35 1225
37 1369
30 900
33 1089
36 1296
35 1225
37 1369
Xx, =275 Zx: = 9497
2 (=Y
Standard deviationi6 = 4[——— (—’)
n n
9497 275 9497 x8—-275%x275
88
75976 75625 351
g Standard deviation ¢ = 2.34
5. Find the variance and standard deviation of
the wages of 9 workers given below:
3 310,% 290, % 320, % 280, T 300, T 290, T 320,
T 310, T 280.
Bl Arrange in ascending order we get,
280, 280, 290, 290, 300, 310, 310, 320 and 320
x= % = @ =300
X d=x-Xx d?
280 -20 400
280 -20 400
290 -10 100
290 -10 100
300 0 0
310 10 100
310 10 100
320 20 400
320 20 400
2x =2700 0 2d?=2000
Variance = Z_d2 = M =222.22
n 9
. Td*
Standard deviation ¢ = =4/222.22=14091
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6. A wall clock strikes the bell once at 1 o’ clock,
2 times at 2 o’ clock, 3 times at 3 o’ clock
and so on. How many times will it strike in
a particular day. Find the standard deviation
of the number of strikes the bell make a day.

Sol|

X d=x-Xx d?
1+1=2 —11 121
2+2)=4 -9 81
3+3)=6 =7 49
4+4)=28 =5 25
5+5=10 =3 9
(6+6)=12 -1 1
(7+7)=14 1 1
8+8)=16 3 9
9+9)=18 5 25

(10+10)=20 7 49
(11+11)=22 9 81
(12+12)=24 11 121
156 572
X = g =13
n
2

c = %= %=\/47.6 >~6.9

7. Find the standard deviation of first 21 natural
numbers. [PTA - 6; June - 2023]

S8 Standard deviation of first # natural number is

n? =1
°o N 12
.. Standard dewviation of first 21 natural numbers
21241 [441-1 [440 ——
o=\ o\ 12 —\71p VY
6 = 6.06
... Standard deviation of first 21 natural numbers
o =6.06
8. Ifthe standard deviation of a data is 4.5 and if

each value of the data is decreased by 5, then
find the new standard deviation.

If the standard deviation of a data is 4.5 and each
value of the data decreased by 5, the new standard
deviation does not change and it is also 4.5.

enquiry@surabooks.com
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If the standard deviation of a data is 3.6 and \

each value of the data is divided by 3, then
find the new variance and new standard
deviation. [PTA-1]
If the standard deviation of a data is 3.6, and
each of the data is divided by 3 then the new

standard deviation is also divided by 3.
3

9.

(o)

.. The new standard deviation =12

w |}

The new variance = (standard deviation)
=o’=12"=144

10. The rainfall recorded in various places of five
districts in a week are given below. Find its

standard deviation.

Rainfall
(in mm)

Numbe 5
places
Sol.
No. of

Rainfall

X, (m places f,
45 5
50
55
60
65
70

45 |'50 |55 | 60 | 65 | 70

13

d:

-X i
121
36
-1 1

16

fd

605
468
4
144

81 | 405
196 | 784
$fd?=2410

14
Txf =2240

Sx.f; 2240
N 40

*. Standard deviation
/zf,.df 2410
c= N \ a0 =+/60.25=17.76
In a study about viral fever, the number of
people affected in a town were noted as. Find
its standard deviation.

mean, X

56

11.

Age in years | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Number
of people 3 5 16 18 12 7 4
affected
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SOl

Let the assumed mean A =35, C=10 ¢ 13. The time taken by 50 students to complete
; | a 100 meter race are given below. Find its
}i%p(;e i q, =A : standard deviation. [PTA - 5]
value i .- 2] 2
AR affected | ; ) x,—A xlC Jd, | 4 S : Time taken
f 1 X (sec) 8.5-9.5(9.5-10.5|/10.5-11.5 | 11.5-12.5 | 12.5-13.5
0-10 | 3 5 130 3 | 919127 | [Numberof
1020 5 | 15| 20| 2 | 10| 4 | 20| 1| students | © | ® 17 10 ‘
20-30 | 16 25 | 10| 1 |-16] 1 |16 | , 91 Assumed mean A= I1,C=1
3040 18 35 0 0 0 0| 0 |! —
4050 | 12 |45 10 1 12 | 1 |12 | 1 |Time Taken | Mid | No-of | d= d"_ - bz i
5060 | 7 |55 | 20 | 2 |14 4|28 '|x value | Students | x,= i |47 | 1,4,
X, f A &
60-70 4 65 30 3 12 | 9 | 36 |1 - -
N6 S 39 ' 185-9.5 9 6 2| =2 1-1214 |24
- Ji= 119.5-10.5 10 8 -L4-1 | -8 1] 8
1
o Zfidz Zfidi 2 : 10.5-11.5 11 17 0 0 0 (0] 0
Standard deviation ¢ = € X N~ U N 115 -125 | 12 10 1 1 10 [1]10
3 L 112.5-13.5713 9 2 2 |18 |4|36
~lox. B39 ( 3 J 10x4/2.138-(0.046)> N=50 8 | |78
65 |65 ! Zfdz 7d 5
=10x~/2.138—0.002116 = 10x~/2.136 ! Standard deviation ¢ = ¢ X IT_[#]
=10 x 1.46 =14.6 .. Standard deviation = 14.6 1 78
1
12. The measurements of the diameters (in cms) 4 =X 30 ( ) = 1x4/1.56 (0. 16)°
of the plates prepared in a factory are given ! J136-0.0256
below. Find its standard deviation. : = IxV1.56-0.0256 = 1xV1.534 =1 x 1.238
- ; =1.238=1.24
Diameter 21-24 | 25-28 | 29-32 |33-36 | 37-40 | 41-44 : 14. For a group of 100 candidates the mean and
i) ! standard deviation of their marks were found
Numberof . | (o | 5 | 16 8 7 | to be 60 and 15 respectively. Later on it was
plates ! found that the scores 45 and 72 were wrongly
g8 Assumed mean A= 30.5,C=4 1 entered as 40 and 27. Find the correct mean
— : and standard deviation.
Diameter | Mid i- O N0, Givenn = 100,¥=60,6=15
class  |value| f; ! i ~A | fd | d&| fd : _ Sy
interval X | X, & x{— C | X = —=3Xx =XXn
205245 | 225 15 | 8 | 2 | 30|4| 60 | L " B
245285 | 265008, | 4 | -1 |-18] 1] 18 | 1 Zx=xxn = 60 x100= 6000
285325 | 305 20 0 0 0 1o 0 : Correct Xx = Incorrect £x — Wrong value +
3253650345 16 | 4 1 |16 | 1] 16 |1 Correct value
36.540.5 | 38.5 8 8 2 16 | 4| 32 : Correct 2x =6000+45+72—-40-27=6117-67
40.544.5 | 42.5 7 12 3 21 [ 9] 63 | Correct Zx = 6050
N = 84 5 189 | ! n = 100
Yx 6050
. Sfd*  (3fd, 2 Correct¥ = Correct = =———=60.5
Standard deviation o = ¢ x N T ! n 100
! . ¥x? xx :
: Standard deviation ¢ = = |- (—j
n n
= g 189 —4x\[2.25-(0.059)> !
s ! I lue of o — 15— | =5 607
! ncorrect value o = =T
= 4><\/2.25—o.0035 —4x/2.2465 = 4 x 1.498 1 I T
! X
~599=6 ! Squaring, 225 = ———3600 gives,
. q g 100 g
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15.

2 22

X 295 52X _ 329
=Tog = 3600 +225 =0 = 3825

>x* = 382500
Correct 2x?* = Incorrect Xx* + Correct value
—Wrong value

Correct value of Zx? = 382500 + 45% + 72 — 407
=382500 + 2025 + 5184 — 1600 — 729

=389709 — 2329 = 387380
Correct standard deviation

_\/387380
°7\ " 100

-27

J3873.80—3660.25

V213.55 =14.61

The mean and variance of seven observations
are 8 and 16 respectively. If five of these are
2, 4,10, 12 and 14, then find the remaining
two observations.
Given x = 8, 6> = 16, n = 7. If five of these are
2,4,10, 12, 14.
Let the remaining observations be a and b.
_ 2x 24+4+4+10+12+14+a+b
= xX=—
n
g — 2+a+b 2
- .
2+a+b = 56
a+b 56-42=14
The given 5 number are 2, 4, a
= a, bare 6 and 8.

—(60.5)*

= x=8,n=17]

, b, 10, 12, 14.

." For other numbers, the common difference is 2.

Hence a =6, b = §]

EXERCISE 8.2

The standard deviation and mean of a data are
6.5 and 12.5 respectively. Find the coefficient
of variation. [Govt. MQP - 2019; Qy. - 2019]

c
Co-efficient of variation C.V = =x100

x
12.5

ﬂ><100%
12.5

Giveno=6.5.x =

~CV

=52%.

The standard deviation and coefficient of variation
of a data are 1.2 and 25.6 respectively. Find the
value of mean.

Giveno=1.2,C.V.=25.6,x =7

v = 2x100%

(¢)
= -9 % 100%
% = *T v ’

1.2
——x100=4.687=4.69
25.6

x
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3.

Sol.

4,

Sol.

5.

Sol.

6.

Sol.

If the mean and coefficient of variation of a \

data are 15 and 48 respectively, then find the
value of standard deviation.

Givenx =15,C.V.=48,6="
(0
CV = —x100
X
= o = CVxx _ 48x15_
100 100

If n=5,x=6,%Xx*="765, then calculate the
coefficient of variation.

Givenn=15,x =6,Xx>=765,C.V.="

2T G

153 36 =110.82
10.82

x100% = 180.28%

Find the coefficient of variation of 24, 26, 33,

37,29, 31. [Govt. MQP - 2019; June-2023]
o Y d=x-X d?
24 -6 36
26 —4 16
33 3 9
37 7 49
29 -1 1
31 1 1
180 2d=0 112
n 6
2
G = % 12 _ i8%66 =432
*. Co-efficient of variation C.V = ; x100
C.V = 4.32

——x100% = 14.4%
30

The time taken (in minutes) to complete a
homework by 8 students in a day are given
by 38, 40, 47, 44, 46, 43, 49, 53. Find the

coefficient of variation. [Qy. - 2019]
o Xx
Mean = x = —
n
_ 38+40+47+44+46+43+49+53
360 _
= ? =45 =x =45
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X d=x-x d?
38 -7 49
40 -5 25
47 2

44 -1 1
46 1 1
43 -2 4
49 4 16
53 8 64
360 0 164

2

G = ,/% = % =205 =453

Co-efficient of variation

453 x100=10.07%
45

CV. = 2x100 =
X
The total marks scored by two students Sathya
and Vidhya in 5 subjects are 460 and 480 with
standard deviation 4.6 and 2.4 respectively.
Who is more consistent in performance?

Sathya Vidhya
Given Xx, = 460 Given Zx, = 480
c,=4.6 c,=24
_ Xx 460 _ Xx, 480
e Y .
=92 =96
.'.C.VnglOO GV, = 29—§X100
=5% =2.5%

C.V of Vidhya is less than C.V. of Sathya.
.. Vidhyads more consistent

The mean and standard deviation of marks
obtained by 40 students of a class in three
subjects Mathematics, Science and Social
Science are given below.

; Subject Mean SD
Mathematics 56 12
Science 65 14
Social Science 60 10

Which of the three subjects shows more
consistent and which shows less consistent in
marks?

¥ For Maths

Given x = 56, 0=12

enquiry@surabooks.com

.. C.V for Maths

For Science
Given that X

..C.V for Science

For Social Science

Given that x

..C.V for Social Science

S 5100 =12 4100
56

X
21.43% (D)
65,6 =14

% 41004 %100
X 65

21.54% "(2)

60,0 =10
gxlOO
X

10 100
—x100 =—
60 g 6
16.67% ..(3)

More consistent marks in science and less consistent

marks in soeial.

_J EXERCISE 8.3 \

1./ Write the sample space for tossing three coins
using tree diagram.

~. S = {HHH, HHT, HTH, HTT, THH, THT,

TTH, TTT}

2. Writethesamplespaceforselectingtwoballs at
a time from a bag containing 6 balls numbered

1 to 6 (using tree diagram).

Sol.

AN L B W

W
[ N S

?
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[}
I
[}
[}
1
' H <
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
¢

[PTA - 4]

~

(o NV RN

D L W=
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| i ’ Let A be the event of getting a square number
2 2 : greater than 500.
3
5 4 6 i : - Since 23% = 529, 24 = 576 ... 31* = 964,
1
6 5 | 322=1024 ¢ S.
: o A=1{23,24,25,26,27,28,29,30,31}
AS=HL 2, (L3, (L4 (19 (L6 Ayl
2, 1), 2, 3), @, 4), (2,9, (2, 6), : (i) .. Probability of first player wins a prize, 13
(G, 1, (G, 2), B, 4, 3,5, (3, 06), n(A) 9
(4. 1), 4. 2. 4 3). (4. 5. (4 6). , PA="s " 1000
5, 1), (5 2), (5 3), (5 4), (5 6),, 3 :
(6’ | ) 6( é )é (3 ’ 6),4( ’6 ), (5 6), : (ii) The first player has already won a prize,
(6. 1), (6,2), (6,3). (6, 4). (6, 5)} I with a particular card and the card is not
n(S) = 30 : replaced
: . ; snB).=9-1=8
3. IfAisan event of a random experiment such
that P(A) : P(A) =17:15 and n(S) = 640 then | - p(B) = nB)_ 8
find i) P(A) [PTA-3] (i) n(A). ! n(s) 999
Sol.| P(A):P(A) = 17:15 : [ 7 (S)=1000—1=999]
(i) PA)= 17 ,P(A) = 15 [ 17+15=132] : A bag contains 12 blue balls and x red balls.
32 32 : If.one ballis drawn at random (i) what is the
N 17  17x20 340 ! probability that it will be a red ball? (ii) If 8
(i) P(A)= 30 32x20 640 : more red balls are put in the bag, and if the
[ 1 (s) = 640] : probability of drawing a red ball will be twice
' i that of the probability in (i), then find x.
_ . _ n(A) o : )
= n(A) = 340 [.PA)=—71, Since the bag contains 12 blue balls and x red
S D palls
1
4. Acoinis tossed thrice. What is the probability Sample space S = {12 blue balls, x red balls]
of getting two consecutive tails? : = n(S) = x+12
1 (i)  Let A be the event of getting a red ball
Had SamplespaceS={(HHH),(THH),(HTH),(HHT), 1 - n(A) = x
1
(HTT), (THT), (TTH), (TTT)} n(A)  x
! - P(A) = =—0 .. (1
= nS) = 8 | (A) n(S) x+12 (1)
Let A be the eventof getting 2 consecutive tails | (i)  Since 8 red balls are added to the bag,
A = {HTT,TTH, TTT} | n(S) = x+12+8=x+20
= n(A) =3 : )
n(A) 3 : Let B be the event of getting red ball
S 8 : P:bb'l' fnéllg))llz o
5. At a fete, cards bearing numbers 1 to 1000, : robability of red ba 3 n(B) _ x+8
one number on one card are putin a box. Each | P(B) = n(s) x+20 )
player selects one card at random and that card Given that P(B) = 2P(A)
is not replaced. If the selected card has a perfect |
x+8 X 2x
square number greater than 500, the player ! = = 2X =
wins a prize. What is the probability that (i) the , x+20 x+12 x+12
first player wins a prize (ii) the second player ! = (@8 (x+12) = 2x(x+20)
wins a prize, if the first has won? 1 [By cross multiplication]
|
§J The cards are bearing numbers from 1 to 1000. 1 =>x*+12x+8x+96 = 2x*+40x
1 2 _ 2
S=1{1,2,3,.. 1000} = n (S) = 1000 . = x+20x+ 96 = 2x°+40x
‘ = 2xX*+40x— x*-20x—-96=0
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l = x>+ 20x 96

=0
= @+t2d)x -4 =0
= x = —24or 96
x =4
Since x cannot be negative, 20
x =4 % 4
Substituting x =4 in (1) we get,
4 4 1
PA) = ——=—=-
4+12 16 4
Two unbiased dice are rolled once. Find the
probability of getting
[Sep. - 2020; Aug. - 2022; April - 2023]
(i) a doublet (equal numbers on both dice)
(ii) the product as a prime number
(iii) the sum as a prime number
(iv) the sum as 1
Two unbiased dice are rolled
= Sample Space (S) = {(1,1) (1,2) (1,3) (1,4)
(1,5) (1,6) (2,1) (2,2) ceveeenee. (6,6)}
= n(S) = 36
(i) Let A be the event of getting a doublet
~A={(L1),(2,2) 3,3) (4.4) (5.5) (6,0)}
= n(A) = 6
6 1
pay = MA) _ 61
(S) ~ 36 6
(i1) Let B be the event of getting the product as
a prime number.
-~ B=1{(1,2) (2, H (1, 3)3, )1, 5)(5, 1)}
= nB) = 6
n(B) 6 1
PB)» = =— ==
(B) n(s) 36 6
(iii) Let C be the event of getting the sum as a
prime number.
£ C= (L) (1,2) (1,4, (1,6) (2,1) 23) (25)
(3.2)(3,4) (4,1)(4,3),(5,2)(5,6) (6, 1) (6,5)}
= n(C) = 15
n(C) 15 5
- P = =—=—
© n(s) 36 12
(iv) Let D be the event of getting the sum as 1
~D = {}
[No pair is having summation as 1]

enquiry@surabooks.com
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= nD) = 0
0
2po) = AP0
n(s) 36
Three fair coins are tossed together. Find the
probability of getting

(i) all heads

(ii) atleast one tail
(iii) atmost one head
(iv) atmost two tails

[PTA - 5]
[PTA- 5]

When 3 fair coins are tossed;
Sample space S = {HHH, HHT, HTH, THH,
HTT, TTH, THT, TTT}

= n(S) =8
(1) Let A be the eyent of getting all heads
4 A=, {HHH}
= n(A) =1
n(a) _1
S~ PA) = — =-
W= ) 7

(i1) Let B be the event of getting atleast one tail
~.B={THH,HTH,HHT,TTH, THT, HTT,TTT}

= nB) = 7 [atleast one tail =
1 tail, or 2 tails or 3 tails]

n(B) 7

~PB) = =—

® = s 73

(iii) Let C be the event of getting atmost one
head
.. C={HTT, THT, TTH, TTT}
[atmost one head means one head or no head]

= n(C) = 4
n(c) 4 1
o P = ——~— =—==
© n§) 8 2
(iv) Let D be the event of getting atmost two
tails

D = {HHH, THH, HTH, HHT, TTH, THT, HTT}

[atmost 2 tails means 2 tails or 1 tail or no tail]

= nD) = 7
) _ nD) 7
~P(D) = S " 8

A bag contains 5 red balls, 6 white balls,
7 green balls, 8 black balls. One ball is drawn
at random from the bag. Find the probability
that the ball drawn is (i) white (ii) black or
red (iii) not white (iv) neither white nor black

Ha2 Sample space = { 5 red, 6 white, 7 green, 8 black

balls}
~n(S) = 26
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A ® 3. Refer Sura's Guide Exercise 8.3, Q.No.4
1
nswers ! 4. Refer Sura's Guide unit Exercise Q.No.4
SECTION - A ! 5. Refer Sura's Guide unit Exercise Q.No.8
1. (C) Arithmetic mean : SECTION - C
7 i 1. Refer Sura's Guide Exercise No.8.1, Q.No&
2. (A) 35 3. (B) 10 | 2. Refer Sura's Guide Unit Exercise Q.No.3\
! 1
4 1
4. (C) 15 5. (D) — I ®
5 | ~ \
SECTION - B ! 4
1. Refer Sura's Guide Exercise 8.1, Q.No.6 |
2. Refer Sura's Guide Exercise 8.2, Q.No.6 l L 4 ‘
IO ® .

@
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Reg. No.
PUBLIC EXAMINATION - APRIL 2024 | | | | | | |
PART - III
Time Allowed : 3.00 Hours] Mathematics (with Answers) [Maximum Marks : 100

Instructions : (1) Check the question paper for ®9. The area of triangle formed by the points
fairness of printing. If there is any (-5, 0), (0,-5) and (5, 0) is :
lack of fairness, inform the Hall . .
Supervisor immediately. () 0'sq. units (b) 255q. units
(2) Use Blue or Black ink to write
and underline and pencil to draw

(c) 5 sq. units (d) 10 sq. units

10. Ifx=atanb and y = b sech, then :

diagrams. ) ,
Note : This question paper contains four parts. (2) Y_X (b) ﬁ B ﬁ o
Part - | »: 4 ey X
Note: (i) Answer all the questions. 14 x 1 = 14 s s ) 5
. . x y x y _
(i1) Choose the most appropriate answer () 1 4+2X (dy =—-2-=0
from the given four alternatives and write a’ b a b

the option code and the corresponding 11. The curved surface area of a right circular

answer. cylinder of height 4 cm and base diameter 10
1. Ifn(AxB)=6and A= {1, 3}, then n(B) is : cm s ;
(a) 1 b) 2 (¢) 3 d) 6 (a) 40 wsq.units (b) 20 7 sq. units

2. Iff: A — Bis abijective function and if n(B) = (¢) 14msq.units (d) 80 msq. units
7, then n(A) is equal to :
(a) 7 (b) 49 (¢) 1 (d 14

3. The least number that is divisible by all the

12. The ratio of the volumes of a cylinder, a cone
and a sphere, if each has the same diameter and
same height is :

(@) 1:2:3 (b) 2:1:3
(c) 1:3:2 (d 3:1:2

13. Which of the following values cannot be a

probability of an event?

(@ 0 (b) 0.5 (c) 1.05 (d) 1
14. The probability of getting a job for a person is

numbers from 1 to 10 (both inclusive) is :

(a) 2025 (b) 5220 (c) 5025 (d) 2520

4. An A.P. consists of 31 terms. If'its 16" term is
m, then the sum of all the terms of this A.P. is :
(@ 16m (b) 62m(c) 3lm (d) %m

5.  Which of the following should be added to make
x* + 64 a perfect square?

(a) 4x* (b) 16x% (c) 8x° (d) —8?
6. Graph of a linear equation is a

g. If the probability of not getting the job is 2 ,
3
then the value of x is :

@2 ®1 () 3 d 1.5

(a) straight line (b) circle Part - 11

(c) parabola (d) hyperbola Note :  Answer any 10 questions. Question No0.28 is
7. . Ifin AABC, DE || BC, AB = 3.6 cm, AC = 2.4 compulsory. 10 x 2 = 20

cm and AD = 2.1 ¢cm then the length of AEis: | 15. If AxB={(3,2),(3,4),(5,2), (5, 4)} then find

(@ 1.4cm (b)  1.8cm AandB.

(c) 1.2cm (d) 1.05 cm 16. Iff(x)=3x-2, g (x)=2x + k and fog = gof, then

find the value of £.
17. ‘@’ and ‘b’ are two positive integers such that

8. How many tangents can be drawn to the circle
from an exterior point?

O = = m e e e m e E e e e E e e e e e e Y e e e e e e e e e e e e e e e e e e e e e = = =

(a) One (b) Two a® x b= 800. Find ‘a’ and ‘b’.
(c) Infinite (d) Zero 4x2 ¥ 6123
18. Simplify : > X
2z 20y
[277]
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19. Find the sum and product of the roots for ® 38. If the radii of the circular ends of a frustum
following quadratic equation. x> + 8x —65=0 which is 45 c¢cm high are 28 cm and 7 cm, find
20. A man goes 18 m due East and then 24 m due ! the volume of the frustum.
North. Find the distance of his current position ;, 39. A right circular cylindrical container of base
from the starting point. ! radius 6 cm and height 15 cm is full of ice-
21. If the points A (=3, 9), B(a, b) and C(4, —5) are 1 cream. The ice-cream is to .be filled in cones
collinear and if a + b =1, then find a and b. : of height 9 cm and base radius 3 cm, having a
22. Find the equation of a straight line which has | hemispherical cap. Find t.he number QEEOIRG
s ' . ! n@eded to empty the container.
slope e and passing through the point (-1, 2). | 40. Find the coefficient of variation of 24, 26, 33,
! 37,29, 31.
23. Prove that I+c0s6 _ cosecO + coto. . 41. Two dice are rollled once. Find the probability
1-cos® ) ) o of getting an even number on the first die or the
24. If the base area of a hemispherical solid is | total of face sum 8
1386 sq. metres, then find its total surface area. 1 49 Find the sum to n ters of the'series 7 + 77 + 777
25. Find the volume of cylinder whose height is 2 m | o
and base area is 250 sq. m. ! Part - IV
26. Find the range and coefficient of range of the 1 Note : Answer all the questions. 2x8=16
following data : : 43. (a) Construct.a APQR which the base PQ = 4.5
25,67,48,53, 18, 39, 44 ! D W, .
27. What is the probability that a leap year selected at s |_ g and the median RG from R to
© probabliity Py ! PQ is 6 cm. (OR)
random will contain 53 Saturdays? | . .
. (b) Draw a circle of diameter 6 cm. from a
28. Find the HCF of 23 and 12. : point P, which is 8 cm. away from its centre.
Part - 111 ) o Draw the two tangents. PA and PB to the
Note:  Answer any 10 questions. Question No.42 is | circle and measure their lengths.
compulsory. 10 x 5 = 50 . 44. (a) Draw the graph of y = 2x* — 3x — 5 and
29. LetA={xe N|1<x<4},B={xe W[0<x hence solve 2x* — 4x — 6 = 0. (OR)
<2} and C = {x € N | x < 3}. Then verify that", (b) Draw the graph of xy = 24, x, y > 0. Using
A x(BUC) = (AxB) U (AxC) ! the graph find,
30. LetA=1{0,1,2,3} and B= {1, 3,5, 7,9} be (i) y when x =3 and (ii) x when y = 6.
two sets. Let /' : A — B.be a function given by | L8
f(x)=2x+ 1. Represent this function !
(i) by arrow diagram (i1) in a table form
) 1
(%11) asa set of.ordered pairs . Part - I
(iv) in a graphical form | 1 3 9 7
31. Find the sum 6£93+10° + .............. 213 1 © - @
32. Find the sqiare root of 64x* — 163+ 172~ 2x+ 1. , o (d) 25220 4. () 3lm
X . .
33. IfA= [3 11| show that AZ— 5A + 7L, = 0, ' 5. (b) 1l6x 6. (a) straight line
N, V) 17. (a) l4cm 8. (b Tv;ro )
34. State and prove Thales Theorem. I . y° X
35: Find the area of quadrilateral whose vertices are : 9. (® 25sq.units 10. (a) 2 4L !
at (-9, -2), (-8,-4), (2, 2) and (1, -3). ' 11. (a) 40 msq. units 12.(d) 3:1:2
36. Find the equation of the perpendicular bisector 1
of the line joining the pp(r)ri)nts A(-4, 2) and ! 13-© 10 14.(0) 1
B(6, —4). | Part - 11
37. Two ships are sailing in the sea on either sides | 15.4 x B = {(3,2), (3,4), (5,2), (5,4)}
of a lighthouse. The angle of elevation of the 1 We have 4 = {set of all first coordinates of
top of the lighthouse as observed from the ships | elements of 4 x B}. .. 4= {3, 5}
are 30° and 45° respectively. If the lighthouse B = {set of all second coordinates of elements of
is 200m high, find the distance between the two 1 AX By~ B=124].
ships. (v/3 =1.732) + ThusA={3,5}and B= {2,4}.
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16. fx) =3x-2,g(x)=2x+k T _3 a
Jogx) = flg(x)) =A2x+k) -
= 3xt k) 2=6xt3k—2 \ \ \ =0("." points are collinear)
1
Thus, fog(x) = 6x+3k-2 ! -5 9
gofix) = g(B3x—-2)=2(3x-2)+k 1 (—3b—5a+36)—(9a+4b+15) =0
Thus, gofx) = 6x—4+k ! (-3b—4b)+(—5a—-9a)+(36-15) =0
Given that fog = gof | /b~ l4a B 24
bx+3k—2 = 6x—4+k ! b+ 20) ~ g8
* B - - b+2a =3
6x76x+3k7k—4+2:>k'——1 : (b+a)+a =3
17. The number 800 can be factorized as I L N
800 =2Xx2x2x2x2x5x5=2x52 : =q=2=h=1-2 ~1
Hence, a’? x b%=25 x 52 i - 2
This implies thata =2 and b =5 (or) a = 5 and | b = 1
b = 2 1 _5 .
22. m=—, t=(-1,2)=(,,
. ,4/x Ay is/xz JEENE N ! m =, poin ( ) (x,,7,)
N zdy 5yt 57 T -V —(x 1)
9 | [ Y-y =mx—x)]
19. Let a and P be the roots of the given quadratic : = i V- T (x+1)
. 1
equation
Pt 650 e @) - Ser D
! = 4y -8 = —5x-5
a=1ab=8l;c=—65 : = Sx+dy = 3=5x+4y-3=0
+p=—2=18andap=< =-65 '
ot p a and o p a : 23 \/1+cos@_\/1+cosexl+cos9
at+pB=-8 af=-65 ' = \V1-cos® Vl1-cos® 1+cos
20. Let A be the position of the man. ! [multiply numerator and denominator by the
C North ] conjugate of 1 — cos 0]
or ! [+ 1+
! ( cosze) _ I+ cosb [.’sin? 6 + cos?6 = 1]
£ | 1—cos” 0 sin2 0
= 1
! = 1-'_Cose=cosee +cot 0
—> East | sin O
A 1Sm.. B 1 24. Let r be the radius of the hemisphere.
Using Pvih " ? | Given that, base area = /> = 1386 sq. m
RS W ¥ ' TS.A.=3m?sqm=3x 1386 =4158
ACT = AB4£BC" ["AB = 18 and BC = 24] ! Therefore, T.S.A. of the hemispherical solid is
= (18)%+ (24 = 324+ 576 =900 I 4158 m?.
AC ="\000 =30m . 25. Let r and % be the radius and height of the
I cylinder respectively
.. The distance from the starting point is 30 m. ! Given that, height 4 = 2 m, base area = 250 m?
2L.0A(-3,9), B(a,b) C(4,-5), ! Now, volume of a cylinder = m/24 cu. units
y l l : = base area * h
! = 250 x2=500m?
(1) (%, 02) (%5, 03) I Therefore, volume of the cylinder = 500 m?
are collinear points, @ + b = 1 (given) . 26. Largest value L = 67; Smallest value S =18
I RangeR=L—-S =67—-18 = 49
2 ' . _  L-S
. Area of the A = \ \ \ $q. units E Coefficient of range = 1+5S
Yo 3y ! . 67—-18 4
SRR ! Coefficient of range = 7o18_ 49 =0.576
é 67+18 85
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44. (a)
X —4 -3 -2 -1 0 1 2 3 4
b 16 9 4 1 0 1 4 9 16
2x? 32 18 8 2 0 2 8 18 32
—3x 12 9 6 3 0

3| 6| -9 |-12 &
5 s s s s s s s s ~
y=22-3x-5 |39 | 2] 9 | o] 5] 6| 3] 4]15 @ 4

Draw the parabola using the points (—4, 39), (-3, T‘ by " TTTTTTTTT A *‘\' y — -~
22)9 (_23 9)9 (_17 O): (Oa _5)9 (17 _6): (23 _3)9 (37 4): 1 X 1 ) 3 4 6
(4, 15).

x axis = 1 cm = 1 unit
yaxis =1 cm =2 units

y 24 12 8 6 4
0

From the table he l!at as x increases y
decreases. Thi t\m 1ation is called indirect

variati
1 &

yo— = re kis a constant of proportionality.

Als e table we find that,

( 4=2x12=3x8=4x6=6x4=24=F
egethk=24

I Plot the points (1, 24), (2, 12), (3, 8), (4, 6) and (6,
0 4) and join them.

To solve 2x* — 4x — 6 = 0, subtract it from y =

2x2—3x—-5 ‘
y = 2735 i
0 4x -6

o H )

= x+ 1is a straight line

-2 0 2
1 1 1

=x+1| -1 1 3
Draw a straight line using the points (-2, —1),
(0, 1), (2, 3). The points of intersection of the
parabola and the straight line forms the roots of
the equation.

The x-coordinates of the points of intersection
forms the solution set.

.. Solution {-1, 3}
(OR)

.. The relation xy = 24 is a rectangular hyperbola
as exhibited in the graph. From the graph, we find

(i) when x =3,y =8 (ii) when y =6, x =4

@ = = e e e e m m e e e . E e, ... ... - - .- ——-m—-——————— == ==
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